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Il Project File (PMP.DPR)

program PMP,

uses
Forms,

itLin' itlpas' { Main},

Typel in ‘Typel.pas' { _Model},
Graph in'Graph.pas' { _Graph},
Typell in Typell.pas' { _Mode2},
Monitor in‘Monitor.pas' { .Monitor},
Typelll in Typelll.pas' { _Mode3},
TypelV in TypelV.pas' {W_Mode4},
Printing in "Printing.pas' {W.Report};

{SR*RES} .

begin
Application.Initialize;
Application.CreateForm(TW_Main, W.Main);
Application.CreateForm(TW_Model1W Model );
Application.CreateForm(TW_Graph, W.Graph);
Application.CreateForm(TW_Mode2, W_Mode2);
Application.CreateForm(TW_Monitor, . Monitor);
Application.CreateForm(TW_Mode3, W_Mode3);
Application.CreateForm(TW_Mode4, W_Moded);
Application.CreateForm(TW_Report, W.Report);
Application.Run;

end.



Il Program for Main form  ( Main.Pas )

unit Main;

interface

uses

Windows, Messages, SysUtils, Classes, Graphics, Controls, Forms, Dialogs,
StdCtrls, Buttons, Extctrls;

type
TW_Main = class(TForm)
BitBtnl : TBItBtn:
BitBtn2: TBItBIn;
BitBtn3: TBItBIn;
BitBtn4: TBItBtn:
BitBtnb: TBItBtn;
Bevell: TBevel;
procedure BitBtn5Click(Sender: TObject);
procedure BitBtnIClick(Sender: TObject);
procedure BitBtn2Click(Sender: TObject);
procedure BitBtn3Click(Sender: TObject)
( )

procedure BitBtn4Click(Sender: TObject

private
{Private declarations }
public
{Public declarations }
end;
var
_Main: TW_Main;

implementation



uses Typel, Typell, Typelll, TypelV;
{$R * DFM}
procedure TW_Main.BitBtn5Click(Sender: TObject).
begin
Close;
end;

procedure TW_Main.BitBtn1Click(Sender: TObject);
begin

_Model .Showmodal;
end;

procedure TW_Main.BitBtn2Click(Sender: TObject);
begin

_Mode2.Showmodal;
end;

procedure TW_Main.BitBtn3Click(Sender: TObject):
begin

_Mode3.ShowModal;
end;

procedure TW_Main.BitBtn4Click(Sender: TObject);
begin

_Mode4.Showmodal;
end;

end.

{o



I Program for Typel Form ( Typel.Pas )

unitTypel;interface
uses
Windows, Messages, Sysutils, Classes, Graphics, Controls, Forms, Dialogs, StdCris,

Extctrls, Buttons, ComCtrls.Math;
type TW Model = class(TForm) Button'll TButton;  BitBtn3: TBitBtn;  BitBtn2:
TBItBn;

BitBtnl : TBItBn;

Bevel'll TBevel;

Bevel2: TBevel;

Label4: TLabel:

Label7: TLabel;

Labell: TLabel;

Label8: TLabel;

Label9: TLabel:

Label2: TLabel;

Labell 1: TLabel;

Edit4: TEdit;

Edit5: TEdit;

ListBox4: TListBox;

ListBox5: TListBox:

Editl: TEdit;

ListBoxI : TListBox;

Edit6: TEdit;

Edit7: TEdit;

Edit8: TEdit;

ListBox2: TListBox;

Editl 1. TEdit;
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Lahel12: TLabel:
Fit12: TRt
ComboBox! : TComboBox;
PageControll: TPageControl;
TabSheet! : TTahSheet:
Labell 4; TLabdl:
Labell 5: TLabe!:
Lahell6: TLakel:

Labell 7: TLabe:
Label18; TLakel:
Label19; TLakel:
Label3; TLabe:

Lahel5: TLabe:

EADL: TErit

EBpL: TEdt,

EQoL: Tt

EAR: THEE

EB2: T,

EQu2: TExt

EDpl: TEt:

EDy2: TEt
TaShest?: TTabSeet:
Lahel6: TLake!:
LabellC: TLabe:
Label20: TLakel:
Label21: TLake:
Label22: TLakel:
Label23; TLakel:
Lahel24: TLabel:



Label25: TLabe!:

EANL: THot

BBiil: TRt

EOnL: THait

EAY: THit

BB: THit

EO2: THat

EDnt: THat

EDn2: THeit

KCheckBox TCheckBox;

procedure SetVetrixOown;

proceclure SetVetrixUp;

procecure CalIVETX;

procedure Shiftup,

procecure ClearVtrix

procecure niftDoan;

procecure DoanHow,

procecure IntAlvalug;

procecure UpHow,

procedure Caloulate;

procedure BitBin2Click(Sender: TChject);
procedure SetRightStep;

procegure ListBox4Click(Sencer: TCoject)
procedure ListBoxaClick(Sender: TChject)
procegure ListBox1Click(Sencer: TCbject)
procecure EditoChange(Sencer: TChject);
procecure BitBn3Click(Sencr: TChject)
procecure BitBml Click(Sencr: TChject)



procecure FormShow(Sencer: TObject);

procedure ListBox2Click(Sender: TObject);
procecure Button2Click(Sencer: TCoject);
procedure Button1Click(Sencer: TCoject);

function AdoText(str : string;length : integer) : string;
function strieng(str : string) : integer;

function Kfunction(y : doulole):couble;

private

{ Private ceclarations }
pubdlic

{ Public ceclarations }
end

\ar
_ModkL : TW Mokl ;

et/ : Aray [0..1,0..100,0..200} of double;
Ap,B,Cn,Dp.AnBn,CnDn Aay [L..2] of double;
MatrixY, MatrixQumVatnxDay : Array [0..11,0-100] of couble;
YmAvg OlaYmAwg : Array [0..11] of doulole;
VB YO YA, YA : doule;
Step, Round, Colurm Incex ColunmCount, Kinoex StepCount:ineger;

Implerentation
Uses Graph, Monttor, Printirg;

(R*IAV



0]
procedure TW Model CallVetrix;
\Var ij; integer,

begin
forj:=0to Step do
begin
MatrixSur{Colurmindex j]:=0;
for1:=0 to Step oo
MatrixSum]Colummingkex j]:=VatrixSum Colunminaex,jJHVerxY] Colunminge; ]
MetrixVColummindex mod 2]
MetrixSum{ Colurmindiex |- =MatrixSum]Colunmincex,jj/MatrixDev{ Colurmindex mod
2}
end,
end;

procedure TW VboeL CleariVirix;

\Varij :integer,

begin

if Columnindex<2 then

begin

for1:=0 1o Step do

forj:=0 to Step do MetrxV{Colurmingkxj]:=0;
end;
end,

function TW MoceL Kfunction(y : couble):couble;
\vari ; integer;
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YY': couble;

Bagin
:=Kindex:
if KCheckBox Checked then YY:=1 else VY-,
if Colummingex mod 2 = 0 then Kunction := ApfiT*Poverty;-2)4Bofi[Poverty;-)
+OpliHDpl Pover(YY.-1)
else  Kfunction := An[i]*Power(y,2)+Bn[i]*Power(y,1)+Cn[i]+Dn[i]/Power(YY,1);

end|

procegure TW MboeL SetvVitrixDown;
Var ij; integer;
begin
ClearVhinix;
fori:20to Step-L do
begin
VetrXY[Colunmingex,i]:=VatrixSumColurmindex;if
end;
I Columnindiex=0 then MetrixY{Colummingex Stepn]:=YtAwg
else MatrixY[Colunminaex Step:=YmAvg]Columnindex-1],
=)
If Colurmninaex mod 2=0 then Kincex:=2 else Kingex=L;
If Columnindex<2 then
begin
forj:= Lto Step do
begin
MatrixV[Columnindexi,j]:= VB*Kfunction(MatrixY[Columnindexj-1]);
MatriXV[Colummincexi+L j= V.
l=alh
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end,
MatrixV/[ColumnIndex,0,0]:=VB*Kfunction(MatrixY [ColumnIndex,0])+V;
end;

fori= to el oo
fColuminde<? then NetriDBqColmincexil:=
VAVBHKurction(VerikY[Coumirei )

if Columnincex mod 2=0 then Kinokx:=1. else Kindex:=2:
if Colummindex<2 then
Bagin
MatnxDev{ Colummingex,0]: 2VetnxV[Colunmindex,0,0];
MatrixDav{Colurminex, Step]:=\VAVBKfunction(MtrixY{Colunmingexstep-1));
Bt
end;

procedure TW Vboel SetvitrixU;
Var ij; integer;
begin
CleariVetrix;
fori:=L to Step do
begin
MatrixY]Colurmindexi]: 2VatrixSum{Colummingexi];
end;
if Colurminoex=ColurmCourtt-1 then - MatrixY[Colurmindex,0]:=YbAwg
else MatrixY[Colurmindex,0]:=YmAvg] Colummingex];
if Columninaex mod 2=0 then Kindex:=1 else Kindex:=2;
if Columningex<2 then

begin



=)

forj:=0to Step-L o
begin
etV Colummingex,i+1,j]:= VB*Kfunction(VetrixY[Colummindexj+1));
MatrixV{Colummindexij:=V;

=k

enj.

end,

fori:=L to Step-L o

begin

If Colurmningex<2 then MatrixDev{Colunmingex if:=
VBKiunction(VatrixY[Colurmingex i+ 1]}V

erﬂ,

if Colurmindiex mod 2=0 then Kindex:=2 else Kindex:=1
If Colunningex<2 then
begin
etrixDev{ Colurmningex, Step]:=MatrixV{Colurmindex, step, Step);
MatrixDavColummindex,0]:2VB*Kiunction(MatrixY[Colummindex 1)) +V:
end;
end

procegure TW Model SniftDoan
varij : integr;
begin

for I:=step downto 0 do

begin

MatrixY[Columnindex,i]:=MatrixSum[Columnindex,i-1];

NV {Colurmincex St G2V BAKGLncton(VriY{Colurmincex S}V

66
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end:

if Columnindex=ColurmCount-1 then MatrixY{Colunmingex, 0]:=YoAWg else
MetrxY]Colummingex, 0]:=YmAwg[ Colunminge];
if Columnindex<2 then
begin
el
forj:=01o Step-1 do
begin
if Columningex mod 20 then
begin
iFj<StepCount-1 then Kincex:=2 else Kindex:=L.
end else
begin
ifj<StepCount-1 then Kindex:=1 else Kindex=2,
end,

MatrixV{Columningex,i+1,J:= VB*Kiunction(VatrixY{Colummincex j+1));
Matrix\V{Colurmingexij]:= V/

=ik

end;

if Colurmnindex modl 2=0 then Kindex:=1 else Kindex.=2;

BtV Colurmindiex,Step Stepl:=VB*Kfunction(Matrix Y[ Colurmincex Step[ 4V
end;

fori=0 1o StepL b
begin
if Columnindex mod 2=0 then

begin



if i<StepCount then Kindex:=2 else Kingex=L;
end else
begin
I KStepCount then Kindex:=1 else Kindex=2,
end;
if Columnindiex<2 then
MatrxDev{Columminaex,i:= VB*Kfunction(VetrixY{Colurmingex i+L) +V

end:

if Colunmingex<2 then

begin
MetrxDev{Columninaex, Step]:=MatrxV{ Colummindex Step,Step);

end;

end.

procegure TW Mokl ShiftUp
varij : integer;
begin
fori:=0to Step- o
begin
MatrixY[Colunmingex i]:=MatrixSum{Colunmingex i+1];
e,

if Columnindlex=0 then MatnxY[Colurmincex, Step]:=YtAwg else
MetrixY[Colurmincex,Step]:=YmAvg[ Colummindex-1];
el

if Columnindex mod 2=0 then Kindex:=2 else Kindex:=1;
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if Columnindex<2 then
begin
forj:= 1to Step oo
begin
if Colurmnindex mod 2=0 then
begin
if>Step-StepCount+1 then Kindex=L else Kindex.=2;
end else
begin
if>Step-StepCount+1 then Kinex:=2 else Kindex:=L;
end;
MatrxV{Colurminaex,i,:= VB*Kfunction(MVetrixY[Columnindex j-L));
Matrix\[Columinexi+1 )=/
=ik
end;

if Colurminckex mod 220 then Kindex:=2 else Kindex:=1:
MatrxV{Colurmingex, 0,0]: =vB*Kiunction(VatrixY[Colummindex 0] +V.
end;

fori:=L to Step do
begin
if Colurmnindex modl 2=0 then
begin
if i>Step-StepCount then Kindex:=1 else Kindex:=2;
end else
begin
if i>Step-StepCount then Kinex:=2 else Kingex=L;

end:



if Columnindex<2 then MatrixDev[Columnindexi]:=
V+VB*Kfunction(MatrixY[Columnindex,i-1]);
end

If Colunmindiex<2 then

Bagin
MatrixDev{Colunmingex,0]:=MetrixV{Colunmindex0];

o

eng;

procegure TW Mokl DoarHow;
Var ij; integer;
avergl : double;
begin
StepCount:=1 ;
for =0 to ColunmCount-| o
begin
Colummindex:3
SetvetrixDown;
end,
avergl
fori: =0 to tep-L o
begin
Ino{StepCourr);
for}:=0 to ColumCount-2 co
begin
Colunmindex.=j;
if Columnindex>0 then MatrixY [Columnindex,Step]:=YmAvg[Columnindex-1];



CalMatrix;

YmAvg[Columnindex]:=0ldYmAvg[Columnindex];

OldYmAvg[ Colunminex]: 5 OldYmAvg] Columninaex]*(Step2-1)
HVRtrixSum{ Colurmnindex,07)/(2*Ste);

end;
Colummindex:=ColurmCount-1
MetnxY[Columninaex,Step]:=YmAvg] Columninaex-1];

CallVetr
avergl :=avergL +HVatn'’xSun{Colunmingex 0]
fori:=0 to ColumnCount-| do

begin

Colurminoex:=:;

St

end,
end,
YoAvg:~(YoAvg*Step)avergl)/(2*Step);

eng;

procedure TW Moael. UoHow;
Var ij; integer,

aerC: coubdle;
begin

StepCount:=1.;
for i:=0 to ColurmCount-1 do
begin

Columingex.=;



SetMatrixUp;
end;

avergQ:=0;

fori: =0t Step-L do

begin

Inc{StepCourr);

forj:=ColumCount-1 cownto 1co

begin

Columincex.;

if Colunmindex < ColumCount-| then
etrxY]Columnindex,0f:=YmAvg] Colurmindex];

CallVHtrx,

YmAvg[Colunminaex-1]:=OldYimAvg| Colurmnindex- 1];

OldYmAvg[Colunmindex-1): 5 OlaYmAvg| Colummindex-1]*(Step*2-
1+MatrixSum{Colunmincex, Step]/(2*Step);

end,

Colurmlincex:=0;
MetrixY[Columminaex, 0]:=YmAwg Colummincex];

CallVerx;
avergO:=avergOHVAIXSUm{ Columnindex, Sten];
fori:=0 to ColumnCounM co

begin

Colurmindex:=;

SiftDown;

end:

92



end;

r:;tAvg:=((Yt#\vg’€te|0)+6M9rgO)/(Z’“Step);
end;

procedure TW MockL . IntAINaLe

\Varij; integer,

begin
ColunmCount:= Strtoint(Combonoxd. text);
BitBin2 Enabledt=Trug;

V:=strtofloet(Ecitd Text),
YO:=Striofloat(Ecit12 Text);

AL =strtofloat(EApL . Text),
BofL]:strtofloat(EBpL.. Text);
OplL]:=strtofloat(ECnL. Tex);
Dp{]:=strtofloat(EDpL . Text);
A2 =strtofloat(EAR2 Text);
Bo[2]:=strtofloat(EBp2 Text);
Quf2]:=Strtofloat(EC02 Text);
Do[2):=strtofloat(EDp2 Text);
AL =striofloat(EAL . Tex)
B[] =strtofloat(EBnL Text)
On[L]:=strtofioet(EOL . Tex);
Dn[1]:=strtofloet(EDnl . Text)
AN[2):=strofioat(EAN Text);
Bn[2] -strtofioat(EBn2 Text)
On[2]:=Strofioat(EC2 Text);
Dn[2):=strtofloat(EDr2 Text)




for i:=0 to ColumnCount-2 do
begin
YmAL[i]:=Y0;
Olcvimagf}=Y0
end
YAG=Y0,
YbAG=Y0,
If strien(Pehar(Ecith text))<L then SetRightStep else
begin
IFstrioint(EcltS. Text)<2 then Edith Text:=2;
Step:=Strtoirt(Eith. Text),
end

for i:=0 to ColumCount-2 do
begin
YmAWi]:=Y0;
OlcvimAgiil=YQ
end
YAG=Y0;
YoAG=Y0,

V:=striofloat{Eitd.text) (2*Step);
\BA3

forj:=0 to ColunmCount-/ o
begin
fori:=0t0 Step do
begin
MerXY =0



MatrixSum[j,i]:=YO;
end;
end;

end;

procedure "' Vbokl SetRightStep;
Var ij; integer;
begin

Step=4:
repeat
Step:=Stept]
\V:=striofloat{ Eoftd text) (2*Step);
VBA,
forj:=0 to ColumCount:-1 do
begin
fori:=0to Step do
begin
X[, [=YO
M, i]-=Y0
end;
end;
DoanHow;
il MatrixSum{0,0>0.%;

Eoith, Text:anttostr(Step);

end:
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procegure TW Mocel Calculate;
Var i nteger;
lesto, lastl : couble;
stop:hoolean;
begin

ListBowd Clear: ListBoxb.clear: ListBoxl .Clear
ListBox2 Clear:
stop:=-false; last0:=0; lastl :;
=)
ListBox] ,lters. Aodlnttostr());
ListBox.terrs. Ack(floattostre{ YtAvg, fiGeneral 6.6));

repeat

=k
If ColurmCount=2 then ListBox2 ters. A floattostri{YmAwg[0]ffGeneral 6.0));
DoanFow

ListBoxa.Iters. Addfloattostrf( YhAvg, ffGeneral 6,6));

UHow,
ListBoxdtervs. Addfloattostr{ YtAvg, ffGeneral 6,6));

IFAs(YoAvgr-Last0)<0.00001 then Stopi=Tre;
last0=YoA;

If Stop and (Abs(YtAvgrLastl)>000001) then Stop:=False;
lastl :=YtA;



ListBoxl . Iters. Adclinttostr(i));
il Stop or (1>100);
DownHow;
ListBox.Iters. Ao floattostri( YhAvg, ffGeneral 6,6)
FoitLtedt:=inttostr(]);
Roundt=:
for 1:= 0 to ColurmCount-2 co
ListBox2 Iters. Aod(floattostrf( YmAwgi] fGeneral 6,6));

end;

procedure ' Modk! BitBir2Click(Sencer: TChject);
begin
Graph PlotType:=L,
_GrapnSow,
end;

procedurer _Model . ListBoxAClick{Sender: TChject);
begin

ListBox5.temincex;=ListBoxd [temindex;

ListBox5. Topincex: =Listoox4. Toplndex;

ListBoxl . Itemindex:=ListBox4.Itemingex;

Listoox] . Topindex:=Listtox. Topindex;

ListBox2 Topinciex:=ListBoxd. Topindex;

ListBox2 lteminex;=ListBox4. ltemincx;
end;

procedure Mool ListBoxaClick(Sencer: TCuject)
begin



ListBox Itemincex: =ListBoxa. ftemindex:
ListBox4. TopIndex;=ListBox5. Toplndex;
ListBoxL Itemindex:=ListBoxb ltemindex;
ListBoxL Topindex:=ListBox5. Toplnckx;
ListBox? Iterminoex: =ListBox5. Itemincex:
ListBox2 Topinckx:=ListBox5. Tapindex;
end;
procecure TW Mookl ListBoxd Click(Sencer: TOject);
begin
ListBox. Toplndex;=ListBoxL. Topingex;
ListBoxd ltemindex:=ListBoxd. . Itemingkx;
ListBoxb. Topindex;=ListBoxL. Topindex;
ListBoxb.ltemindex:=ListBoxL Itemincex;
ListBox2 Topindex;=ListBoxL . Topindex;
ListBox2 Itemincex;=ListBoxd. . temincex;
end;

procedure TW Mock! Eit6Change(Sender: TCoject);
Var iteninteger;
begin
item=0;
if (Editt.text<>" ) and (Strlen(Pehar(Editt.text))>0) then
iterm=stroirt(Ecit6. Text),
Eoit7 Olear; Eclt8 clear:
If itemx<Round then
begin
it text:=Listooxd Item[item);
Exit8 text:=Listooxd ltems[item];
Foitl L text:=Listoox? Items[item];



eng;
end,

procedure TW Mol BitBindClick(Sender: TCoject);
begin

Close;

end;

procedure TW Vboel BitBind Click(Sender: TChject);
begin

ListBoxl .Clear:

ListBox2 Clear

ListBowd Cear;

ListBob.Cear;

InNtAINALE:

Caloulate:

end

procecure TW ModeL FormShow(Sencer, TChject):
begin

BitBtn2 Enabled: False;

end;

procegure TW Mookl ListBox2Click(Sencer: TCuject)
begin
ListBoxd. Toplndex;=ListBox2 Topincex;
ListBoxd ftemindex;=ListBox2 Itemindex;
ListBoxb. Topindex:=ListBox2 Topincex;
ListBox5.lteminex;=ListBox2 Itemindex;
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ListBoxl . TopInckx;=ListBox2 Topincex;
ListBoxLtemingex: =ListBox2 temingx;
end;

procecure TW Modkl Button2Click(Sender: TChject);
begin
Monitor Soalvbot

end;

function TW Mook strieng(str : strirg) - integer;
vari,count: integer;
begin
count:=0);
fon:=1 to strien(pchar(str)) do
if(str{i]c?") and (str{i]<>'$) and (str{i]<>T) and
(str{i]o¥) and (strfil<>h and (striij<v) and
(strij>r) and (strtGo*') and (str{il<") and
(strfi}>'") and (strQJo™) and (str[i]or)) then count:=oount+L;
strieng:=oourt;
end,
function TW Mook AddText(str : string;length : integer) - string;
var Str2 - string;
| textleng: integer;
begin
Str2:="
textleng:=length Trunc{strleng(Pehar(str))*L65);
Ifstrieng(Pehar(str) <1 then Sri='*,
for 20 to Truncltextleng’2) do Sr2=str2+'
ifstiien(pchar(str)>0  then  str2=str2+tr;



fori:=0 to Trunc(textleng/2) do Str2:=str2+'
AddText:=str2:

end;

proceduren . Mockl.Button? Click(Sender: TCoject);
vari integer,
str: string;
begin
Report Memol Qear;
_ReportMemoLLinesAdd' N YT B
N YT YB);
\WReport. Memol. Lines,AddO
10

repeat
str := AdaText(Listoox? ftens|i] 20)1+' “+AddText(Listioox. lterrs[i] 20)+'
AddText(ListBox5.Iter[i],20);
stro=sr+ "+ AodText(ListooxL Items(i+1]. 20+
Ao Text(Listhoxd.Itemsi+1]. 20+ "+ AddText(ListBox5. terrs[i+1],20);
_Report Memol . Lines Addistr);
342
untl i>= Listioxl. Htens.Count-1:
Report. SnowVodal;
end,

end.

Il Program forTypell Form ( Typell.Pas )



unit Typell
Interface

USeS
\WMinoows, Messages, SysUtiis, Classes, Graphics, Controls, Fors, Dialogs,
StaCirts, Bxtetris, Buttons, CorrCirls Meth;

type
TW Mooe2 = class(TForm)

Button: TButton;
BBn3; TBtBm;
BB BB
BitBn1: THIBn
Bevell: TBxel:
Bevel?2: TBavel:
Lateld: Thabel:
Latel7: TLakel:
LaeM TLabd:
Lahel8: TLabd:
Label9: TLabe!:
Label2: TLakel:
Label'll: TLake!:
Foitd; THdt
Edits; TEOIt
ListBoxd: TListBox
ListBox5: TListBo
Editl: TRt
ListBoxI: TListBox:



Edit6: TEdit;

Fit7 THdt:

Foit; THt:
ListBox2: TListBox:
Fit11: TRt
Lahel14; TLakel;
Label15; TLae:
ListBox3: TListBox:
ListBox6: TListBo
Foit4: TROIE
Fit15: TRt
Latel16: TLakel;
Fitl6: TRt
PageControll: TPageContral;
TabShestl: TTabSheet:
Label3: TLabel:
Lahel5; TLakel:
Label6: TLatel;
Labell7: TLabe!:
Labelld TLake:
Labell% TLak:
Labell C: TLake:
Lahel12: TLae:
AL THdt

EBoL: THdt,

ECoL: THdt

AR THt

BB THt

EQu2: TEdt,



EDpl: TEdit;
EDp2: TEdt;
TabSheet?: TTabSeet:
Labell3 TLabe!:
Label20: TLabel;
Lahel21: TLabe:
Lahel22: TLabe!:
Label23; TLabel;
Label24: TLabe!;
Label25: TLatel;
Label26: TLabel;
EAL: TRt
BBl: TRt
EOL: THoit
EAD: THit
B: THit
EO®: THeit
EDnt: THit:
B THit:
Lahel27: TLake:
Label28; TLabel;
EAS: TRt
BB3: THit
Label29: TLae:
Label30: TLae:
EO3: THit
ED3; THet:
Label31 : TLabel;
Label32: TLabel;
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ECp3: TEdit;

ED3; T,

Label33: TLabe:
Label34: TLae:

Eap3; TEt,

EB3: TEdt;

KCheckBox: TCheckBox;

procedure SetvetrxOown;

procedure SetvatxUp;

procecure CAllVArix

procegure niftl;

procegure CleariVtrix;

procegure ShiftDoan;

procedure DoanHow;

procedure IntAlalLe;

procedure UpHow;

procedure Calculate;

proceclure BitBm2Click(Sender: TChject):
procegure SetRightStep;

procecure ListBoxdClick(Sender TChject);
procedure ListBoxoClick(Sencer: TCoject)
procedure ListBoxIClick{Sender: TCbject);
procedure EditoChange(Sender: TCoject)
procecure BitBn3Click{Sender TChject).
proceclure BitBin1Click(Sencer: TChject),
procecure Button1Click(Sendr: TChject),
proceclure FormBhow(Sender: TChject);
proceclure ListBox3Click(Sencer: TCbject),
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procegure ListBox6Click(Sencer: TChject);
procecure ListBox2Cliok{Sender: TCuject);
function Kunction(y : ouble):couble;

procecure Button2Click(Sender: TObject);

private

{ Private ceclarations }
public

{ Public ceclarations }
end

\Var
Mock2: TW M2
MRV - Aty [0.1,0.1000.100] of coub

Ap,Bp,Co,Dp,AnBn,OnDn - Array [L..3] of clouiole;
MatrixY, MatrixSumMetrixDev : Aray [0..1,0-100] of couble;

VB YmAug ClaYmAug, YL Avg YE3Avg, Yol Avg, YO, Y3Avg - couble;
Step,Round, Column Inex, ColumnCount, Cycle, Kingex, StepCourt:integer,

implerentation

Uses Graph, Montor, Printing, Typd!
{R*CAv

procedure TW Moce2 CallVetnx;

Var ij; integer,
begin

106



forj:=0 to Step do

begin
VatrixSum{Columingexj]:=;
for 1:20 to Step do

MatrixSum[ColumnIndex,j]:=MatrixSum[ColumnIndex,j]+MatrixY [ColumnIndex,i]*Matrix
MColumingexijJ;
MatrixSum[Columnindex,j]:=MatrixSum[ColumnIndex,j]/MatrixDev[ColumnIndex,j];
end,
end;

procedure TW Mooe2 CleariVitrix; var ij integer; begin for -0 tostep do
forj:=0 to Step do MatrixXV{Colurmingexi,j|:0;
end;

function TW Mock2 Kfunction(y : cloutle):couiole;
Var i integer;
YY . couble;
begin
:=Kindex;
if KCheckBox.Checked then YY:=1 else YY:y;,
if Colurmindex =0 then Kiundtion := Apfif*Power(y.-2)+Bo(iPower(y-L+COd[i]
HDpfijPover(YY-D else  Kiunction =
An(i*Poverly,2)Bnl]*Pover(y, L On[IHDn{ijPover(YY,1); end;
procedure TW Mock2 SetVetrixUp; vari,: integer; begin

CleariVhtrix

fori:=L to Step do
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MatrixY[Colunnnindex,i]:=MatnxSum[ColumnIndex,i];

if Colurmincex=1 then
begin

iFCycle=2 then  MatrixY[Colunmingex 0]:=Yb3Awg
else if Cycle=4 then MatrxY[Colummincex,0]:=YbL Awg;
end else MatrixY[Colunmingex,0f:=YmAwg;

If Colurmingex =1 then Kindex:=2 else
begin

i Cycle=2 then «indexai ;

I Cycle=4 then Kindex.=3;

end;

=)
forj:=0to Step-L do
begin
MetrixV{Columnindex;i+11]:= VB Kfunction(VetrixY[Colummindex j+1));
MetrixViColunminaexjjj* \;
l=alh
end,
etV Colummingex, Step, Step]:=VB*Kfunction(Metnx Y[ Colunmindex,Step]}+V;

fori:=L to Step-L do
MetrixDev{Colurmindexi]:= VB*Kiunction(MatrixY[Colummindex,i+1])+V:

if Colurminckx =0 then Kindex:=2 else
begin

if Cycle=2 then Kindex:=3;
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ifCycle=4 then Kingex:=L;
end;
MetrnxDev{Columninaex, Step]: =Metrix\Columningex Step. Step);

MatrixDavColunmingex, 0] =VB*Kfunction(VatrixY[Colurmingex, 1)V

end;

procedure " Mock2 SetivetrixDown;
Var ij; integer;
begin

ClearVhrix;
fort:=0 to Step-1 do MetrixY{Colurmindex;if:=VatrixSun{Colummindex;

if ColumindexO then
begin

ifCycle=1 then MatrixYfColumningex.StepjYtlAvg

else if Cycle=3 then MatrixY[Colurmincex Sten]:=Yt3Aw;
end else MatrixY]Columnindex Step]:=YmAwg;

if (Colummindex mod 2)=0 then Kindex:=2 else
begin
ifCycled then Kingex=L;
if Cycle=3 then Kindex.=3,
end,
el
forj:= 110 Step do
begin
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MatriXV{Colunmingex, = VBHKiunction(VatnxY{Colurmingex-1));
Metrx\V{Colunminex i+11):= V/
=
end;
MatrixVColurmingex, 0,0 =VB*K function( VatrixY[Colummincex 0]V

fori:=L tostep-1 do
MatrixDeviColummingexi]:= VAVB*Kiunction( VatrixY[Columingkxi-1]);

if Columnincex =1 then Kindex:=2 else
begin

IfCycle=1 then Kindex=L;
fCycle=3 then Kinckex=3,~ \
end;

MatrixDevColummindex,0]:=Metrix\| Colummincex 00];
MetrixDav{Colurminaex, Step]:=VAVB*Kfunction(Vatrix Y] Colurmindex Step-1));

en

proceciure TW Modk2 ShiftUp;

Var ij; integer;

begin

fori:=0 1o Step-1 o MatrixY[Colunmingexi]:=VatrixSum]Colummingex i+1];
If Columnindex=0 then
begin

ifCycle=1 then MatrixY[Columnindex,Step]:=Yt1Avg else



i Cycle=3 then MatrixY[Colurminex Step:=Yt3Aw;
end else MatnxY[Colurmindiex Sten]:=YmAw;
i:=0;
forj:= 1toStep oo
begin
if Colurningex =0 then
begin
ifCycled then
begin
ifj>Step-StepCount+1 then Kindex.=1 else Kindex:=2;
end else
begin
if>Step-StepCount+1 then - Kingex:=3 else Kindex:=2;
eng,
end else
begin
ifCycle=1 then
begin
if>Step-StepCount+1 then - Kinex:=2 else Kindex:=L,
end else
begin
iT>Step-StepCount+1 then Kingex:=2 else Kindex:=3;
end
end,

VetV Colummindi,:= VB*Kfunction(Metrix Y[ Colurmingiej-1));
MetrxXV{Colummingex,i+11]:=V,
l=ah

m
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end;
if (Columnindex mod 2)=0 then Kindex:=2 else
begin
if Cycle=1 then Kindex:=1;
if Cycle=3 then Kindex:=3;
end;
MatnxV[ColumnindexI0,0]:=VB*Kfunction(MatrixY[ColumnIndex,0])+V;

for »:= to Step do
begin
if Columnindex =0 then
begin
ifCycle=1 then
begin
if i>Step-StepCountthen Kindex:=1 else Kindex:=2;
end else
begin
if i>Step-StepCount then  Kindex:=3 else Kindex:=2;
end;
end else
begin
if Cycle=1 then
begin
if i>Step-StepCount then Kindex:=2 else Kindex:=1;
end else
begin
if i>Step-StepCountthen Kindex:=2 else Kindex:=3;
end

end;
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MatrixDev[Columnindex,i:= V+VB*Kfunction(MatrixY[ColumnIndex,i-1]);
end:

MatrixDev[Columnindex,0]:=MatrixV[ColurrmIndex,0,0];

end;

procedure TW_Mode2.ShiftDown;
varij integer;

begin

for i:=step downto 1do MatnxY[Columnindex,ij:=MatrixSum[ColumnIndex,i-1];

if Columnindex=1 then

begin
if Cycle=2 then MatrixYtColumnindex.0j*YbSAvg else
if Cycle=4 then MatrixY[ColumnIndex,0}:=Yb1Avg;

end else MatrixY[Columnindex,0]:=YmAvg;

i:=0:
forj:= 0 to Step-1 do
begin

if Columnindex =1 then
begin
if Cycle=2 then
begin
if<StepCount-1 then Kindex:=3 else Kindex:=2;
end else

begin
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ifj<StepCount-1 then Kindex:=1 else Kindex:=2;
end;
end else
begin
if Cycle=2 then
begin
ifj<StepCount-1 then Kindex:=2 else Kindex:=1;
end else
begin
ifj<StepCount-1 then Kindex:=2 else Kindex:=3;
end;

end:

MatrixV[Columnindex,i+1,j]:= VB*Kfunction(MatrixY[Columnindex,j+1]);
MatrixV[Columnindex,i,j]:= V;

=i+l
end;
if Columnindex =1 then Kindex:=2 else

begin

if Cycle=2 then Kindex:=1 else Kindex:=3;
end;

MatrixV[Columnindex,Step,Step]:=VB*Kfunction(MatnxY[Columnindex,Step])+V;

for i:=0 to Step-1 do
begin

if Columnindex =1 then
begin

if Cycle=2 then



begin
if i<StepCount then
end else
begin
if i<StepCountthen
end;
end else
begin
if Cycle=2 then
begin
if ikStepCount then
end else
begin
if i<StepCount then
end;
end;

MatrixDev[Column Index,i]:= VB*Kfunction(MatrixY[ColumnIndex,i+1])+V;

end:

MatrixDev[Column Index,step]:=MatrixV[Columnindex, Step, step];

end:

procedure TW_Mode2.DownFlow;var i integer;

Columnindex:=0;
SetMatrixDown;
Columnindex:=1;

SetMatrixDown:

Kindex:=3 else Kindex:=2;

Kindex:=1 else Kindex:=2;

Kindex:=2 else Kindex:=1:

Kindex:=2 else Kindex:=3;

avergl:double;begin StepCount:=1;



avergl:=0;

for i:=0 to Step-1 do

begin

Columnindex:=0;

Inc(StepCount);

CalMatrix;

Shiftup;

YmAvg:=OldYmAwg;
OldYmAvg:=(0ldYmAvg*(Step*2-1)+MatrixSum|0,0])/(2*Step);
Columnindex:=1;

CalMatrix;

ShiftUp;

avergl:=avergl +MatrixSum[Columnindex,0];

end:

ifCycle=1 then YblAvg:=((YblAvg*Step)+avergl)/(2*Step)
else if Cycle=3 then Yb3Avg:=((Yb3Avg*Step)+avergl)/(2*Step);

end:

procedure TW_Mode2.UpFlow;
var i integer;
avergO: double;
begin
StepCount:=1;
Columnindex:=0:
SetMatrixUp;
Columnindex:=1;

SetMatrixUp;
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averg0:=0;
for i:=0 to Step-1 do
begin
Columnindex:=1;
Inc(StepCouot);
CalMatrix;
ShiftDown;
YmAvg:=0ldYmAvg;
OldYmAvg:=(OldYmAvg*(Step*2-1)+MatrixSum{[1,Step])/(2*Step);
Columnindex:=0;
CalMatrix;
ShiftDown:;
averg0:=avergO+MatrixSum[Columnindex,Step];
end:
if Cycle=2 then Yt1Avg:=((YtLAvg*Step)+avergQ)/(2*Step)
else if Cycle=4 then Yt3Avg:=((Yt3Avg*Step)+averg0)/(2*Step);

end:

procedure TW_Mode2.InitAllValue;var ij: integer;begin ColumnCount:=2;

BitBtn2.Enabled:=True; Ap[l]:=strtofloat(EApl .Text); Bp[l]:=strtofloat(EBpl .Text);
Cp[1]:=strtofloat(ECp1 .Text);
Dp[1]:=strtofloat(EDp1 .Text);
Ap[2]:=strtofloat(EAp2.Text);
Bp[2]:=strtofloat(EBp2.Text);
Cp[2]:=Strtofloat(ECp2.Text);
Dp[2]:=strtofloat(EDp2.Text);
Ap[3]:=strtofloat(EAp3.Text);
Bp[3]:=strtofloat(EBp3.Text);
Cp[3]:=Strtofloat(ECp3.Text);

(
(



Dp[3]:=strtofloat(EDp3.Text);

An[1]:=strtofloat(EANnL .Text);
Bn[1]:=strtofloat(EBn1 .Text);
Cn[1]:=strtofloat(ECn1.Text);

[1]:=strtofloat(EDn1 .Text);
An[2]:=strtofloat(EAn2.Text);
Bn[2]:=strtofloat(EBn2.Text);
Cn[2]:=Strtofloat(ECn2.Text);

[2]:=strtofloat(EDn2.Text);
An[3]:=strtofloat(EAn3.Text);
Bn[3]:=strtofloat(EBn3.Text);
Cn[3]:=Strtofloat(ECn3.Text);

[3]:=strtofloat(ED .Text);

V:=strtofloat(Edit4. Text);
Y0:=strtofloat(Edit16.Text);
OldYmAvg:=YO;
YtLAvg:=YO; Yb1Avg:=YO0; YmAvg:=YO;
Yt3Avg:=Y0; Yh3Avg:=YO0;
Cycle:=1;
if strlen(Pchar(Edit5.text))<1 then SetRightStep else
begin
if strtoint(Edit5.Text)<2 then Edit5.Text:="2",
Step:=Strtoint(Edit5.Text);

end:

OldYmAvg:=YO;
Yt1Avg:=Y0; Ybh1Avg:=Y0; YmAvg:=YO;



Yt3Avg:=Y0; Yb3Avg:=YO0;

V:=strtofloat(Edit4.text)/(2*Step);
VB:=V/3;

forj:=0 to ColumnCount-1 do
begin
for i:=0 to Step do
begin
MatrixY[},i:=YO;
MatrixSum(j,ij:=YO;
end;

end:

end:

procedure TW_Mode2.SetRightStep;
var i} integer;

begin

Step:=4;
repeat

Step:=Step+1;
V:=strtofloat(Edit4.text)/(2*Step);
VB:=V/3;

forj:=0 to ColumnCount-l do

begin

for i:=0 to Step do
begin
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MatrixY{j,ij:=YO;
MatrixSum(j,ij:=YO;
end;
end:
DownFlow:;
until MatrixSum{[0,0]>0.94;
Edit5.Text:=inttostr(Step);
end:
procedure TW_Mode2.Calculate;
var i :integer;
lasto, lastl :double;
stop.'boolean;

begin

ListBox4.Clear; ListBox5.clear; ListBox| .Clear:

ListBox2.Clear;

stop:=false; last0:=0; lastl =

:=0:
ListBoxI.Items.Add(inttostr(i));
ListBox4.ltems.Add(floattostrf(Yt1Avg,ffGeneral,6,6));
ListBox3.ltems.Add(floattostrf(Yb3Avg,ffGeneral,6,6));
ListBox6.ltems.Add(floattostrf(Yt3Avg,ffGeneral,6,6));
ListBox2.ltems.Add(floattostrf(Y mAvg,ffGeneral,6,6));

repeat

=i+l
Cycle:=1;

DownFlow;



ListBox5.ltems.Add(floattostrf(Yb1Avg,ffGeneral,6,6));

Cycle:=2;
UpFlow;
ListBox4.ltems.Add(floattostrf(Yt1Avg,ffGeneral,6,6));

Cycle:=3;

DownFlow;

ListBox6.ltems.Add(floattostrf(Yb3Avg,ffGeneral,6,6));

Cycle:=4;
UpFlow;
ListBox3.ltems.Add(floattostrf(Yt3Avg,ffGeneral,6,6));

ListBox2.ltems.Add(floattostrf(YmAvg,fiGeneral,6,6));

if Abs(Yh1Avg-Last0)<0.00001 then Stop:=Tme;
lastO:=Yh1Avg;

if Stop and (Abs(Yt1Avg-Last1)>0.00001) then Stop:=False;
lastl:=Yt1Avg;

ListBox1.ltems.Add(inttostr(i);

until Stop or (i>100);

Cycle:=1;

DownFlow;
ListBox5.ltems.Add(floattostrf(Yb1Avg,ffGeneral,6,6));
Editl .text:=inttostr(i);

Round:=i;
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end:

procedure 1 _Mode2.BitBtn2Click(Sender: TObject);
begin

Graph.Plottype:=2;

WijSraph.Show;

end:

procedure TW_Mode2.ListBox4Click(Sender: TObject);

begin
ListBox5.ltemIndex:=ListBox4.ltemIndex;
ListBox5.Topindex:=Listbox4.TopIndex;
ListBox!I .ltemIndex:=ListBox4.ltemIndex;
Listbox| .Topindex:=Listbox4.Topindex;
ListBox3.ltemIndex:=ListBox4.ltemIndex;
ListBox3.Topindex:=Listbox4.TopIndex;
ListBox6.ltemIndex:=ListBox4.ltemindex;
Listbox6.Topindex:=Listbox4.Topindex;
ListBox2.ltemIndex:=ListBox4.ltemIndex;
Listbox2.Topindex:=Listbox4.Topindex;

end:

procedure TW_Mode2.ListBox5Click(Sender: TObject);
begin
ListBox4.ltemIndex:=ListBox5.ltemIndex;
ListBox4.Topindex:=Listbox5.TopIndex;
ListBox! .IltemIndex:=ListBox5.ltemIndex;
Listbox!| , Topindex:=Listbox5.Topindex;

ListBox3.1tern Index:=ListBox5. Item Index;



ListBox3.Topindex:=iisthox5.TopIndex;
ListBox6.ltemIndex:=ListBox5.ltemIndex;
Listbox6.Topindex:=Listbox5.Topindex;
ListBox2.ItemIndex:=ListBox5.ltemIndex;
Listbox2.Topindex:=Listbox5.Topindex;

end:

procedure TW_Mode2.ListBox1Click(Sender: TObject);

begin
ListBox5.ltemIndex:=ListBox1.ltemIndex;
ListBox5.Topindex:=Listbox1.Toplndex;
ListBox4.ltemIndex:=ListBoxL1.ltemIndex;
Listbox4.Topindex:=Listbox1.Topindex;
ListBox3.ltemIndex:=UstBox1.ltemIndex;
ListBox3.Topindex:=Listbox1.TopIndex;
ListBox6.ltemIndex:=ListBox1.ltemindex;
Listbox6.Topindex:=Listbox1.Topindex;
ListBox2.ltemIndex:=ListBox1.ltemindex;
Listbox2.Topindex:=Listbox1 .Topindex;

end:

procedure TW_Mode2.Edit6Change(Sender: TObject);
varitem:integer;
begin
item:=0;
if (Edit6.text<>" ") and (Strlen(Pchar(Edit6.text))>0) then
itemAstrtointCEditB.Text);
Edit7.Clear; Edit8.clear;

if item<Round then
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begin
Edit7.text:=Listbox4.ltems[item];
Edit8.text:=Listbox5.ltems[item];
Editl5.text:=Listbox3.ltems[item];
Editl4.text:=Listbox6.ltems[item];
Editl 1.text:=Listbox2.ltems[item];
end:
end;
procedure TW_Mode2.BitBtn3Click(Sender: TObject);
begin
Close;
end;
procedure TW_Mode2.BitBtn1Click(Sender: TObject);
begin
ListBoxI .Clear;
ListBox2.Clear:
ListBox4.Clear:
ListBoxS.Clear;
ListBox3.Clear;
ListBox6.Clear:
InitAllValue;
Calculate;

end:

procedure TW_Mode2.Button1Click(Sender: TObject);
vari:integer;

str : string;
begin

_Report.Memol .Clear;



JTeportMemol . es.AddO N Y1l YBL

YT3 YB3 YMY),
_Report.Memol.Lines. Add(" );

I:=0;

repeat

str:=_Model AddText(Listbox1 .Items[i],20)+" '+W_Model .AddText(
Listbox4 ltems[i],20)+" '+ _Model .AddText(ListBox5.ltems]i],20);
str .= str +' 't _Model .AddText(Listbox3.ltems[i],20)+'

'+W_Model .AddText
(Listbox6.ltems]i],20)+' '+ ,Model .AddText(ListBox2.ltems]i],20);

_Report.Memol .Lines.Add(str);
=i+l
until i>= Listboxl.ltems.Count-1;
_Report.ShowModal;

end:

procedure TW_Mode2.FormShow(Sender: TObject);
begin

BitBtn2.Enabled:=False;

end:

procedure TW_Mode2.ListBox3Click(Sender: TObject);
begin
ListBox5.ltemIndex:=ListBox3.ltemIndex;
ListBox5.Topindex:=Listhox3.TopIndex;
ListBox! .ltemIndex:=ListBox3.ltemIndex;

Listbox! .Topindex:=Listbox3.Topindex;



ListBox4.ltemIndex:=ListBox3.ltemIndex;
ListBox4.Topindex:=lstbox3.Toplndex;
ListBox6.ltemIndex:=ListBox3.ltemIndex;
Listbox6.Topindex:=Listbox3.Topindex;
ListBox2.ltemIndex:=ListBox3.ltemIndex;
Listoox2.Topindex:=Listbox3.Topindex;

end;

procedure ' _Mode2.ListBox6Click(Sender: TObject);

begin
ListBox5.ltemIndex:=ListBox6.ltemIndex;
ListBox5.Topindex:=Listbox6.TopIndex;
ListBox1.ltemIndex:=ListBox6.ltemIndex;
Listbox1.Topindex:=Listbox6.Topindex;
ListBoxS.ltemIndex”ListBoxG.ltemIndex:
ListBox3.Topindex:=Listbox6.TopIndex;
ListBox4.ltemIndex:=ListBox6.ltemIndex;
Listbox4.Topindex:=Listbox6.Topindex;
ListBox2.ltemIndex:=ListBox6.ltemIndex:
Listbox2.Topindex:=:Listbox6.Topindex;

end;

procedure _Mode2.ListBox2Click(Senden TObject);
begin
ListBox5.ltemIndex:=ListBox2.ltemIndex;
ListBox5.Topindex:=Listbox2.TopIndex;
ListBox1.ltemIndex:=ListBox2.ltemIndex;
Listbox'! .Topindex:=Listbox2.Topindex;

ListBox3.ltemIndex:=ListBox2.ltemIndex;
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ListBox3.Topindex:=Listbox2.Toplndex;
ListBox6.ltemIndex:=ListBox2.ltemIndex;
Listbox6.Topindex:=Listhox2.Topindex;
ListBox4.ltemIndex:=ListBox2.ltemIndex;
Listbox4.Topindex:=Listbox2.Topindex;

end:

procedure TW_Mode2.Button2Click(Sender: TObject);
begin

_Monitor.ShowModal;
end;

end.

Il Program for Typelll Form ( Typelll.Pas )

unitTypelllinterfaceuses Windows, Messages, SysUtils, Classes, Graphics, Controls,
Forms, Dialogs, StdCtris, Extctrls, Buttons, ComCtrls,Math;type TW_Mode3 =
class(TForm) Bevell; TBevel;

Bevel2: TBevel;

Labeld: TLabel;

Label7: TLabel;

Labell: TLabel;

Label8: TLabel;

Label9: TLabel;

Label2: TLabel;

Labell 1: TLabel;

Button'll TButton;

BitBtn3: TBItBtn;



BitBtn2: TBItBtn;
BitBtnl: TBitBtn:
Editd; TEdit;

Edit5: TEdit;
ListBox4: TListBox:
ListBox5: TListBox;
Editl: TEdit;
ListBoxI: TListBox
Edit6: TEdit;

Edit7: TEdit;

Edit8: TEdit;
ListBox2: TListBox
Editl 1: TEdit;
Label12: TLabel:
ListBox3: TListBox:
Editl2: TEdit;
Labell5: TLabel;
Editl 5: TEdit;
PageControll : TPageContraol;
TabSheetl: TTabSheet;
Label3: TLabel;
Label5: TLabel;
Label6: TLabel;
Labell7: TLabel:
Label18: TLabel;
Label19: TLabel;
LabellO: TLabel;
Labell3: TLabel;
Label31: TLabel



Label32: TLabel;
Label33: TLabel;
Label34: TLabel;
EApl : TEdit;
EBpl: TEdit;
ECpl: TEdit;
EAp2: TEdit;
EBp2: TEdit;
ECp2: TEdit;
EDpl: TEdit;
EDp2: TEdit;
ECp3: TEdit;
EDp3: TEdit;
Eap3: TEdit;
EBp3: TEdit;
TahSheet2: TTabSheet;
Label14: TLabel;
Label20: TLabel;
Label21 : TLabel;
Label22: TLabel;
Label23: TLabel;
Label24: TLabel;
Label25: TLabel;
Label26: TLabel;
Label27: TLabel;
Label28: TLabel;
Label29: TLabel;
Label30: TLabel;
EAnl: TEdit:



EBnl: TEdit;
ECnl: TEdit;
EAn2: TEdit
EBn2: TEdit
ECo2: TEdit
EDnl: TEdit
EDn2: TEdit
EAn3: TEdit
EBn3: TEdit
ECn3: TEdit
EDn3: TEdit
KCheckBox TCheckBox;

procedure SetMatrixDown

procedure SetMatrixUp;

procedure CalMatrix;

procedure ShiftUp;

procedure ClearMatrix;

procedure ShiftDown;

procedure DownFlow;

procedure IrtitAllvalue;

procedure UpFlow;

procedure Calculate;

procedure BitBtn2Click(Sender: TObject);
procedure SetRightStep;

procedure ListBox4Click(Sender: TObject);
procedure ListBox5Click(Senden TObject);
procedure ListBox1Click(Sender: TObject);
procedure EditéChange(Sender: TObject);
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procedure BitBtn3Click(Sender: TObject);
procedure BitBtn1Click(Sender: TObject);
procedure Button1Click(Sender: TObject);
procedure FormShow(Sender: TObject);
procedure ListBox2Click(Sender: TObject);
procedure ListBox3Click(Senden TObject);
function Kfunction(y : double):double;
private

{ Private declarations}

public

{ Public declarations}

end;

var
_Mode3: TW_Mode3;
MatrixV :Array [0..1,0.-100,0..100] of double;
Ap,Bp,Cp,Dp,An,Bn,Cn,Dn :Array [1..3] of double;
MatrixY.MatrixSum.MatrixDev :Array [0..1,0..100] of double;
V,VB,Y0,Ym 1Avg.0ldYm 1Avg 1
Ym3Avg,0ldYm3Avg,YtAvg,YbAvg : double;

Step,Round,Columnindex,Cycle,Kindex,StepCount:integer;

implementation

USes Graph, Monitor, Printing, Typel;

{$R *.DFM]

procedure TW_Mode3.CalMatrix;
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var i} integer,

begin

forj:=0 to Step do
begin
MatrixSum[Columnindex,j}:=0;
for i:=0 to Step do
MatrixSum[Columnindex,j]:=MatrixSum[ColumnIndex,j]+MatrixY [ColumnIndex,i]
*MatrixV[Columnindex,i|];
MatrixSum[Columnindex j]:=MatrixSum[ColumnIndex j]/MatnxDev[ColumnIndex,j];
end;

end:

procedure TW_Mode3.ClearMatrix;
var ij linteger;
begin
for i:=0 to Step do
forj:=0 to Step do MatrixV[Columnindex,i,j]:=0;
end;
function TW_Mode3.Kfunction(y : double):double;
vari:integer,
YY :double;
begin
i:=Kindex;
if KCheckBox.Checked then YY:=1 else YY:=y;
if Columnindex = 0 then Kfunction := Ap[i]*Power(y,-2)+Bp[i]*Power(y,-1)+Cpli]
+Dp[ij/Power(YY,-1) else Kfunction :=
An[i]*Power(y,2)+Bn[i]*Power(y,1)+Cnli]+Dn[i]/Power(YY,1);
end;



procedure ' _Mode3.SetMatrixL)p;
var i} integer;

begin
ClearMatrix;
for i:=1 to Step do MatrixY[Coiumnindex,il:=MatrixSum[Columnindex,i];

if Columnindex=1 then MatrixY[ColumnIndex,0]:=YbAvg
else begin
if Cycle=2 then MatrixY[Columnindex,0]:=Ym3Avg
else MatrixY[Columnindex,0]:=Ym1Avg;

end:

if Columnindex =1 then
begin
if Cycle= 2 then Kindex:=3 else Kindex:=1;

end else Kindex:=2;

1:=0;
forj:= 0 to Step-1 do
begin
MatrixV[Columnindex,i+1,j]:= VB*Kfunction(MatrixY [Columnindex,j+1]);
MatnxVfColumnindexjj:" V,
=i+l

end:

MatrixV[Columnindex,Step,Step]:=VB*Kfunction(MatrixY [Columnindex,Step])+V;



for =1 to Step-1 do MatrixDev[Columnindex,i]:=
VB*Kfunction(MatrixY[ColumnIndex,i+1])+V; if Columnindex =1 then
Kindex:=2 else
Begin
ifCycled then Kindex:=3 else
Kindex:=1;
End;

MatnxDevtColumnindex.Stepl*MatrixViColumnindex,Step,Step];
MatnxDev[Columnindex,0]:=VB*Kfunction(MatrixY[Columnindex,1])+V;

end:

procedure TW_Mode3.SetMatrixDown;
var i} integer,

begin

ClearMatrix;

fori:=0 to Step-1 do MatrixY[Columnindex,i]:=MatnxSum[Columnindex,i;
if Columnindex=0 then MatrixY[Columnindex,Step]:=YtAvg
else begin

if Cycle=1 then MatrixY[Columnindex,Step]:=Y 3Avg else

if Cycle=3 then MatrixY[Columnindex,Step]:=Ym1Avg;

end:

if (Columnindex mod 2)=0 then
begin
if Cycle=1 then Kindex:=1 else Kindex:=3;



End else Kindex:=2;

1:=0;
forj:= 1to Step do
begin
MatrixV[Columnindex,i,jj:= VB*Kfunction(MatrixY[Columnindex,j-1]);
MatnxV[Columnindex,i+1,j]:= V;
=i+l
end;
MatnxV[Columnindex,0,0]:=:VB*Kfunction(MatnxY[Columnindex>0])+V;

fori:=1 to Step-1 do MatrixDev{Columnlndex,i]:=
V+VB*Kfunction(MatrixY[ColumnIndex,i-1]); if (Columnindex mod 2)=0 then
Kindex:=2 else  Begin if Cycle=1 then Kindex:=3 else Kindex:=1;  end;
MatnxDev[Columnindex,0]:=MatrixV[Columnindex,0,0];

MatrixDev[Columnindex,Step]:=V+VB*Kfunction(MatrixY[ColumnIndex,step-1]);

end:

procedure TW_Mode3.Shiftl)p;
varij integer;

begin

fori:=0 to step-1 do MatrixY[Columnindex,i]:=MatrixSum[Columnindex,i+1];

if Columnindex=0 then MatrixYfColumnindex.Stepl*YtAvg else
begin

if Cycle=1 then MatrixY[ColumnIndex,Step]:-Ym3Avg else

if Cycle = 3 then MatrixY[ColumnIndex,Step] :=Ym1Avg;
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end:

i:=0;
forj:= 1to Step do
begin

if Columnindex =0 then
begin
ifCycle=1 then
begin
if>Step-StepCount+1 then Kindex:=2 else Kindex:=1;
end else
begin
ifj>Step-StepCount+1 then Kindex:=2 else Kindex:=3;
end;
end else
begin
if Cycle=1 then
begin
ifj>Step-StepCount+1 then Kindex:=3 else Kindex:=2;
end else
begin
ifj>Step-StepCount+1 then Kindex:=1 else Kindex:=2;
end

end;

MatrixV[Colu niIndex,i,jJ:= VB*Kfunction(MatrixY[Columnindex,j-1]);
MatrixV[Columnindex,it1 [J:= V;

i=itl;
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end;
if Columnindex =0 then
begin
if Cycle=1 then Kindex:=1 else Kindex:=3;

end else Kindex:=2;

MatrixV[Columnindex,0,0]:=VB*Kfunction(MatnxY[Columnindex,0])+V;

fori:=1 to Step do
begin
if Columnindex =0 then
begin
if Cycle=1 then
begin
if i>Step-StepCount then  Kindex:=2 else Kindex:=1;
end else
begin
if i>Step-StepCount then Kindex:=2 else Kindex:=3;
end;
end else
begin
ifCycle=1 then
begin
if i>Step-StepCount then Kindex:=3 else Kindex:=2;
end else
begin
if i>Step-StepCount then Kindex:=1 else Kindex:=2;

end



end;
MatrixDev[Columnindex,i]:= V+VB*Kfunction(MatrixY[ColumnIndex,i-1]);

end;
MatnxDev[Columnindex,0]:=MatnxV[Columnindex,0,0];
end;

procedure TW_Mode3.ShiftDown;
varij :integer;

begin

[=step,

while >0 do

begin
MatrixY[Columnindex,il:=MatrixSum[Columnindex,i-1];
I=i-1;

end:

if Columnindex=1 then MatrixY[Coiumnindex,0]:=YbAvg else
begin
if Cycle = 2 then MatrixY[ColumnIndex,0]:=Ym3Avg else
if Cycle = 4 then MatrixYtColumnindex.Oj—YmIAvg;
end;
0_0;
forj:= 0 to Step-1 do
begin
if Columnindex =0 then

begin
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if Cycle=2 then
begin
ifj<StepCount-1 then Kindex:=3 else Kindex:=2;
end else
begin
ifj<StepCount-1 then Kindex:=1 else Kindex:=2;
end;
end else
begin
if Cycle=2 then
begin
ifj<StepCount-1 then Kindex;=2 else Kindex:=3;
end else
begin
ifj<StepCount-1 then Kindex:=2 else Kindex:=1;
end;

end;

MatnxV[Columnindex,i+ij]:: VB*Kfunction(MatrixY[ColumnIndex,j+1]);
MatrixV[Columnindex,i,j]:= V;
=i+l
end;

if Columnindex =0 then Kindex:=2 else

begin

if Cycle=2 then Kindex:=3 else Kindex:=1;
end;

MatrixV[Columnindex,Step,Step]:=VB*Kfunction(MatnxY[Colunnnindex,Step])+V;

fori:=0 to Step-1 do



begin
if Columnindex =0 then
begin
if Cycle=2 then
begin
if KStepCount then Kindex:=3 else Kindex:=2;
end else
begin
if KStepCountthen Kindex:=1 else Kindex:=2;
end;
end else
begin
if Cycle=2 then
begin
if KStepCount then Kindex:=2 else Kindex:=3;
end else
begin
if KStepCount then Kindex:=2 else Kindex:=1;
end;

end;

MatnxDev[Columnindex,i]:= VB*Kfunction(MatnxY[Columnindex,i+1])+V;

end:

MatrixDev[Columnindex,Step]:=MatrixV[Columnindex,Step,Step];
end;
procedure TW_Mode3.DownFlow;
var i integer;

avergl.avergO: double;
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begin
Columnindex:=0;
StepCount:=1;
SetMatnxDown:;
Columnindex:=1:

SetMatnxDown:

averg0:=0;
avergl:=0;
fori:=0 to Step-1 do
begin
Inc(StepCount);
Columnindex:=0;
CalMatrix;

ShiftUp;

averg0:=averg0O+MatrixSum|0,0];
Columnindex:=1;
CalMatrix;
ShiftUp;
avergl:=avergl +MatrixSum[1,0];
end;
YbAvg:=((YbAvg*Step)+avergl)/(2*Step);
if Cycle = 1then
begin
Ym1Avg:=((Ym1Avg*Step)+avergO)/(2*Step);
OldYm1Avg:=Ym1 Avg;
end else if Cycle = 3 then

begin



Ym3Avg:=((Ym3Avg*Step)+averg0)/(2*Step);
OldYm3Avg:=Ym3Avg;
end;

end:

procedure TW_Mode3.UpFlow;
var i integer;
avergQ: double;
begin
StepCount:=1;
Columnindex:=1;
SetMatrixUp;

averg0:=0;

fori:=0 to Step-1 do

begin
Inc(StepCount);
Columnindex:=1;
CalMatrix;
ShiftDown;

if Cycle = 2 then

begin
Ym3Avg:=0ldYm3Avg;

OldYm3Avg:=(0ldYm3Avg*(Step*2-1 )+MatrixSum[1 ,step])/(2*step);

end else if Cycle = 4 then
begin
Ym1Avg:=0ldYm1Avg;

OldYm1Avg:=(OldYm1Avg*(Step*2-1)+MatrixSum[1,Step])/(2*Step);

end:
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Coiumnindex:=0:

if i= 0 then SetMatrixllp;

if Cycle=2 then MatrixYtColumnindex.0*YmSAvg else
if Cycle=4 then MatrixYtColumnindex.Ol*YmIAvg;

CalMatrix;

ShiftDown:

averg0:=avergO+MatrixSum[0,Step];

end;

YtAvg:=((YtAvg*Step)+avergQ)/(2*Step);
end;

procedure TW_Mode3.InitAllValue;
var i integer;

begin
BitBtn2.Enabled:=True;

Ap[1]:=strtofloat(EAp1 .Text);
Bp[1]:=strtofloat(EBp1 .Text);
Cp[1]:= strtofioat(ECp1 .Text);
Dp[1 ]:=strtofloat(EDp1 .Text);
Ap[2]:=strtofloat(EAp2J ext);
Bp[2]:=strtofloat(EBp2.Text);
Cp[2]:=Strtofloat(ECp2.Text);
Dp[2]:=strtofloat(EDp2.Text);
Ap[3]:=strtofloat(EAp3.Text);
Bp[3]:=strtofloat(EBp3.Text);



Cp[3]:=strtofl oat( ECp3.Text);
Dp[3]:=strtofloat(EDp3. Text):

An[1]:=strtofloat(EANL .Text);
[1]:=strtofloat(EBn1 .Text);
Cn[1]:=strtofloat(ECnL Text):
[1]:=strtofloat(EDn1 . Text)
An[2]:=strtofloat(EAN2. Text);
[2]:=strtofloat(EBn2. Text);
Cn[2]:=Strtofloat
Dn[2]:=strtofloat
An[3]:=strtofl oat
[3]:=strtofloat
Cn[3]:=Strtofloat
Dn[3]:=strtofloat

ECn2.Text)
EDn2.Text)
EAn3.Text);

X),

A/\/\

EBn3.Text
ECn3.Text);
EDn3.Text)

AA/\

YO strtofloaEdlitl 5.Text)

OlaYmlAvg=YO;

OldYm3Avg:=YO;

YtAvg=Y0;

Yml1Avg.=Y0;

Ym3Avg:=Y0;

YbAvg:=YO0;

if strlen(Pchar(Edith.text))<1 then SetRightStep else
begin
if strioint(Eciit5. Text)<2 then Edlith. Text:-2'
Step:=Strtoint(Edit5. Text):

end;
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OldYm1Avg:=YO;
OldYm3Avg:=YQ,
Ym1Avg:=Y0;
Ym3Avg:=Y0;
YtAg=Y0,
YbAg=Y0,

V:=strtofloat(Ecitd.text)/(2*Step):
VB=VI3,

forj=0to 1do
begin
for =0 to Step co
begin
MatrixY[j, :=YO;
MatrixSumj,].=YO;
end.
end

end:

procedure TW_Mode3, SetRightStep;var 1, integer;begin
step:=4;

repeat

Step=Step+1;

V:=strtofloat(Eclitd.text)/(2*Step):

VB3,



for:=0to step do
begin
MatrixY[j,]=YO;
MatrixSum[,i]:=YO;
end.
end
DownFlow;
until MatrixSum[0,0]>0.94;

Edit. Text:=inttostr(Step);
end

procedure TW Mode3.Calculate;
vari linteger,
lasto, lastl : double;
stop:boolean;
begin

ListBox4.Clear; ListBoxb.clear; ListBox! .Clear;

ListBox2.Clear;

stop;=false; last0:=0; lastl =0

=1
ListBox! ,Items.Add(inttostr(i));
ListBoxb.items.Add(floattostr( YoAvg, ffGeneral,6,6)):
ListBox4.Items.Add(floattostrf{ YtAvg, f{General,6,6)):
ListBox2. Items. Add(floattostrf(Ym1 Avg,ff{General,6,6));

ListBox3.Items.Add(floattostrf( Ym3Avg,fiGeneral 6,0));
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repeat
=i+l
Cycle=1;
DownFlow;

ListBox2.Items. Add(floattostrf( Ym1Avg,fiGeneral 6,0));

Cycle=2,
UpHow;

Cycle:=3;

DownFHow;
ListBox3.ltems.Add(floattostrf(Ym3AvgffGeneral,65));
ListBoxb.Items.Add(floattostri(YhAvg, fiGeneral 6,6));

Cycle:=4;
UpHow;
ListBox4.Items.Add(floattostri(YtAvg, f{General 6,0));

if (YbAvg-Last0)<0.00001 then Stop:=True;
lastO\YbAvg;

if Stop and ((YtAvg-Last1)>0.00001) then Stop:=False;
lastL:=YtAvg;

ListBox{.Items. Add(inttostr(i));
until Stop or (>100);

Edlitl ,text:=inttostr();
Round:5:



end:

procedure TW_Mode3,BitBtn2Click(Sender: TObject);
begin
Graph.PlotType—S;
_Graph.Show;
end;

procedure TW_Mode3 ListBox4Click(Senden TObject);

begin
ListBox5.ltemindex:=ListBox4.ltemincex:
ListBox5. Topindex;=Listoox4. Topindex;
ListBox 1. ltemindex:=ListBox4.ltemindex:
Listbox! .Topindex:=Listhox4. Topindex;
ListBox2.Iltemindex:=ListBox4. ltemindex:
Listbox2. Topindex:=Listbox4. Topincex;
ListBox3.ltemindex:=ListBox4.ltemindex:
Listbox3. Topindex:=Listbox4. Topindex;

end;

procedure TW Mode3 ListBox5Click(Sender: TObject);
begin

ListBox4.ltemindex:=ListBox5.ltemindex:
ListBox4. Toplndex;=ListBoxb. Topindex;
ListBox . ltemindex:=ListBox5.ltemindex:
ListBoxL. TopIndex;=ListBox5. Topindex;
ListBox2.Iltemindex:=ListBox5.ltemindex:
ListBox2. TopIndex;=ListBox5. Topindex;
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ListBox3.Iltemindex:=ListBox5.ltemindex:
ListBox3. TopIndex;=ListBox5. Topindex;
end;

procedure TW_Mode3,ListBox1Click(Sender: TOhject);
begin

ListBox4. Topindex:=ListBox1 . Topindex;
ListBox4.ltemindex:=ListBox.ltemindex:
ListBoxb. Topindex=ListBox1 . Topindex;
ListBox5.ltemindex:=ListBox 1. ltemindex;
ListBox2. Topindex.=ListBox1 . Topindex;
ListBox2.Itemindex:=ListBox . ltemindex:
ListBox3. Toplnclex:=ListBox1 . Topindex;
ListBox3.ltemindex:=ListBox 1. ltemindex:
end;

procedure TW_Mode3 Edit6Change(Sender: TObject);
varitenrinteger,

begin

item=0:

if (Edlt6.text<>" ) and (Strlen(Pchar(Edit6.text))>0) then

item:=strioint(Ecit6. Text);

Edit7.Clear; Edit8.clear;

if item<Round then

begin
Edit7 text=Listoox4.ltems[item):
Edit8.text:=Listoox5.ltems[item);



Editl Ltext:=Listbox2.ltems]item];
Edit12 text:=Listbox3.ltems]item];
end;
end;

procedure TW_Mode3,BitBtn3Click(Sender: TObject);
begin

Close:
end

procedure TW_Mode3,BitBtn1Click(Sender: TOhject):
begin

ListBox! .Clear:

ListBox2.Clear:

ListBox4.Clear;

ListBox5. Clear;

ListBox3.Clear;

IntAllValue;

Calculate;

end

procedure TW_Modle3 Button1Click(Sender: TObject);
vari ; integer;

Str ; string
begin

Report. Memol .Clear;

_Report Memol .LinesAddO N YT
L YM3 YM);



_Report Memol. Lines Add(' )
=0,

repeat
str:="Model .AddText(Listhox1 .ltems[i],20)+
*+HW Model AddText(Listbox4.ltemg[i],20)+ '+
_Model AddText(ListBox5.Items]i],20);
stri=str + '+ Model AddText(Listoox2.Items]i],20)+
W Model AddText(Listoox2.tems[], 20+ '+
_Mode1 AddText(ListBox2.Items[i],20);
_Report. Memol .LinesAdd(str);
=+
until i>= Listboxl.Items.Count-1;
_Report. ShowModal;
end;

procedure TWMode3, FormShow(Sender: TObject);
begin

BitBtn2.Enabled:=False;
end:

procedure " Mode3 ListBox2Click(Sender: TObject);
begin
ListBox4.ltemindex:=ListBox2.Itemindex:
ListBox4. TopIndex;=ListBox2. Topindex;
ListBox1.ltemindex:=ListBox2. ltemindex:
ListBox. TopIndex;=ListBox2. Topindex;
ListBox3.Iltemindex:=ListBox2.ltemindex:



ListBox3, Topindex:=ListBox2. Topindex;

ListBoxb.ltemindex:=ListBox2.ftemindex;

ListBox5. Topindex:=ListBox2. Topindex;
end;

procedure' Mode3,ListBox3Click(Sender: TObject);

begin
ListBox4. ltemIndex:=ListBox3.ltemindex:
ListBox4. Topindex:=ListBox3.Topindex;
ListBox1.Itemindex;=ListBox3.ltemindex;
ListBox. Topindex:=ListBox3. Toplndex;
ListBox2.ltemindex:=ListBox3 Itemindex:
ListBox2. Toplndex:=ListBox3. Topindex;
ListBoxb.Itemindex:=ListBox3.ltemindex;
ListBoxS. TopIndexListBoxS. TopIndex;

end;

end.

Program for TypelV Form ( TypelV.Pas )
unit TypelV:;

interface

USEs

Windows, Messages, Sysutils, Classes, Graphics, Controls, Forms, Dialogs,
StaClrls, ExtCtris, Buttons, ComClrls.Math;

type



" Mode4 =class(TForm)
Buttonl: TButton:
BitBin3: TBItB:
BitBtn2: TBitBn:
BitBtnl: TBitBtn:
Bevell: TBevel:
Bevel2: TBevel:
Labeld: TLabel:
Label7: TLabel:
Labell: TLabel;
Label8: TLabel:
Label9: TLabel;
Label2: TLabel!
Labell 1: TLabel;
Ecitd: TEdt,

Ealit5; TEdit;
ListBox4; TListBox:
ListBox5; TListBox:
Editl: TEdt,
ListBoxl: TListBox:
Edit6: TEdt,

Edit7: TEdit,

Edit8: TEdit:
ListBox2: TListBox:
Editl T TEdt
Label13; TLabel:
ListBox3: TListBox:
Editl 3 TEdlit:

Labell5: TLabel;



PageControll : TPageControl;

TabSheetl: TTabSheet;

Label3: TLabel;

Label5: TLabel;

Label6: TLabe!

Label17: TLabel!

Labell 8 TLabel;

Labell9: TLabe!

LabeMO: TLabe!;

Labell2 TLabel;

Label3L: TLabel

Label32: TLabel!

Label33; TLabel!

Label34: TLabel!

EApL. TEdit:

EBpL. TEdit:

ECpL: TEdit,

EAp2: TEdit;

EBp2: TEdit:

ECp2: TEdt,

EDpL: TEdt,
t
t
t

EDp2: TEd
ECp3: TEd
EDp3: TEd
Eap3; TEdt;
EBp3; TEd;

TabSheet2: TTabSheet;

Labell4: TLabel;



Label20: TLabel

Label21: TLabel
Label22: TLabel
Label23: TLabel
Label24: TLabel
Label25: TLabel
Label26: TLabel
Label27: TLabel
Label28: TLabel
Label29; TLabel
Label30: TLabel:
EANL; TEdit
EBnL; TEdit
ECnl: TEdit
EAN2: TEdit
EBn2: TEdit
ECn2: TEdit
EDnl: TEdit
EDn2: TEdlit
EAn3; TEdit
EBn3: TEdit
ECn3: TEdit
EDn3: TEdit
KCheckBox TCheckBox;

procedure SetMatrixDown;
procedure SetMatrixUp;
procedure CalMatrix;
procedure Shiftup;



procedure ClearMatrix;
procedure ShiftDown;
procedure DownFlow;
procedure InitAllvalue;
procedure UpFlow:
procedure Calculate;
procedure BitBin2Ciick(Sender: TObject):
procedure SetRightStep;
procedure ListBox4Click(Sender: TObject);
procedure ListBox5Click(Sender: TObject):
procedure ListBox1Click(Sender: TObject);
procedure EdlitoChange(Senden TObject);
procedure BitBtn3Click(Sender: TObject);
procedure BitBtn1Click(Sender: TObject);
procedure Button 1Click(Sender: TObject);
procedure FormShow(Sender: TObject):
procedure ListBox2Click(Sender: TObject):
procedure ListBox3Click(Sender; TObject);
function Kfunction(y : double):double;
procedure Button2Click(Sender: TObject);
private
{ Private declarations }
public
{ Public declarations}
end;

var
_Moded: TW Modke4;
MatrixV : Array [0-1,0..100,0..100] of doulle;
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Ap,Bp,Cp,Dp,An,Bn,Cn, :Array [1..3] of double;
MatrixY,MatrixSum,MatrixDev : Array [0..1,0..100] of double;
V,VB,YO,YsAvg, YmAvg,OldYmAvg, YtAvg, YoAvg : double;
Step,Round, Columnindex, Cycle Kindex, StepCount:integer;

implementation
uses Graph, Monitor, Printing, Typel;
{SR\DFM}

procedure TW Mode4. CalMatrix;
varij. integer;
begin
forj:=0 to Step do
begin
MatrixSum[Columnindex,]]:=0;
fori:=0 to Step do
MatrixSum[Columnindex, j]:=MatrixSum[Columnindex,]+MatrixY[Columnindex, ]
*MatrixV[Columnindex, ]
MatrixSum[Columnindex, . =MatrixSum[Columninclex,]}/MatrixDev[Columnindex,]
end
end;

procedure TW Mode4. ClearMatrix;
var i linteger;

begin
for:=0to Step do

for j:=0 to Step do MatrixV[Columnindex,i,j]:=0;
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end;

function TW Moded.Kfunction(y : double):double;
vari: integer;
YY : double;
begin
=Kindex:
if KCheckBox.Checked then YY:=1 else YY:=y;
if Columnindex =0then Kfunction := Ap[i]*Power(y,-2)+Bp[i*Power(y,-1)+Cpli]
+Dp[i]/Power(YY,-1) else
Kfunction := An[i]*Power(y,2)+Bn[ij*Power(y,1)+Cn[i]+Dn[i]/Power(YY,1):
end

procedure TW_Mode4. SetMatrixUp;
varij. integer,

begin
ClearMatrix:

fori:=1 to step do MatrixY[Columnindex,ij:=MatrixSum[Columninclex,i]

if Cycle=2 then
begin
if Columninaex=1 then  MatrixY[Columnindex,0]:=YbAvg
else MatrixY[Columnindex,0]:=YmAvg;
end else
begin
for i:=step downto Ldo MatrixY[Columnindex,i]:= MatrixY[Columninclex,i-1];
MatrixY[Columnindex,0]:=YsAvg;
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end;

if Columnindex =0 then
begin
if Cycle=2then Kindex=1 else Kindex.=2,
end else Kindex:=2:

=0

forj:= 0to Sep-1 do

begin

Matrix\Columnindex,i+1]:= VB*Kfunction(MatrixY[Columnincex,+1])
MatrixV[Columnindex,i,f]:= V.

=i

end

MatrixV[Columninclex,Step, Step]:=VB*Kfunction(MatrixY[Columnindex, Step])+V;
fori=1 to Step-1 do  MatrixDev{Columnindex,i}:=
VB*Kfunction(MatrixY[Columnindex,i+L])+V;

if Columnindex =1 then Kindex:=1 else
Begin
if Cycle=2 then Kindex.=2 else
Kindex:=3;
End;

MatrixDev[Columnindex, Step]:=MatrixVColumnindex, Step,Step];
MatrixDev[Columnindex,0]:=VB*Kfunction(MatrixY[Columnindex, L])+V;

end



procedure ' Moded. SetMatrixDown;
vari.: integer,

begin

ClearMatrix.
for =0 to step-1 do MatrixY[Cotumnindlex, iJ:=MatrixSum[Columnindex,];

if Columnindlex=0 then  MatrixY[Columnindex, Step]:=YtAvg
else MatrixY[Columnindex,Step].-YmAvg;

if (Columnindex mod 2)=0 then Kindex.:=3 else Kindex:=L,

I=0;
forj:= 1to Step do
begin
MatnxV[Columnindex,,j]:= VB*Kfunction(MetrixY[Columnindex,-1]);
MatnxV[Columnindex,i+1]):= V;
=+
end;
MatrixV[Columnindex,0,0]:=VB*Kfunction(MatrxY[Columnindex,0])+V;

fori=1 to Step-1 do MatrixDev{Columnindex,]:=
VHVB#Kfunction(MatrixY[Columninclex, -1]);

if (Columnindex mod 2)=0then Kindex.=1
else Kindex:=2;



MatrixDev{Columnindex, 0]:=MeatrixV[Columnindex,0,0];
MatrixDev[Columnindex,Step]:=V+VB*Kfunction(MatrixY[Columnindex,step-1]);

end

procedure TW_Moded. ShiftUp;
vari, : integer;

begin

for =0 tostep-1 do MatrixY[Columnindex,ij:=MatrixSum[Columnindex,i+1];

if Columnindex=0 then MatrixY[Columnindex, Step]:=YtAvg else
MatrixYfColumnindex.Stepl*YmAvg;

=0
forj:= 1to Step do

begin
if Columnindex =0 then

begin
if>Step-StepCount+1 then - Kindex=1 else Kindex:”;
end else

begin
if >Step-StepCount+1 then  Kindex:=2 else Kindex:=L,

end:

MatrixV[Columnindex,i,f]:= VB*Kfunction(MatrixY[Columnindex,-1]);

MatrixV[Columnindex,i+1,j]:= V,
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end;

if Columnindex=0 then Kindex.=3 else Kindex.=L,;
MatrixV[Columnindex,0,0]:;-VB*Kfunction(MatnxY[Columnindex,0])+V,;

fori=1 to Step do
begin
if Columnindex =0 then
begin
if I>Step-StepCount then  Kindex:=1 else Kinoex.=3;
end else

begin
if I>Step-StepCount then Kindex:=2 else Kindex:-1;
end;
MatrixDev{Columnindex,i:= V+VB*Kfunction(MatrixY[Columnindex,i-1])
end;

MatrixDev{Columnindex,0]:=MatrixV[Columnindex,0,0];
end;
procedure TW_Moded.ShiftDown;
varij ; integer,
begin
for i:=step downto 1do MatrixY[Columnindex,]:=MatrixSum[Columnindex, -1];
if Cycle=2 then
begin
if Columnindex=1 then MatrixY[Columnindex,0]:=YbAvg else
MatrixY[Columnindex,0];=YmAvg;



end else MatnxY[Columninclex,0]:=YsAvg;

=0
forj:=0to Step-1 do
begin
if Columnindex =0 then
begin
if Cycle=2 then
begin
ifj<StepCount-1 then Kindex=2 else Kindex=L;
end else
begin
ifj<StepCount-1 then Kindex:=3 else Kindex=2;
end;
end else
begin
If<StepCount-1 then Kindex=1 else Kindex.=2;
end;
MatrxV[Columnindex,i+1,[J:= VB*Kfunction(MatnxY[Columnindex,j+1]);
MatnxV[Columnindex,i,fJ:= V;
=kdh
end;
if Columnindex=0 then
begin
if Cycle=2 then Kinoex.=1 else Kindex :=2
end else Kindex:=2:

MatrixV[Columnindex,Step,Step]:=VB*Kfunction(MatnxY[ColumnIndex,Step])+V;
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fori:=0to Step-1 do
Begin
if Columnindex =0then
begin
if Cycle=2 then
begin
if i<StepCount then Kindex.=2 else Kindex.=1
end else
begin
if KStepCount then Kindex:=3 else Kindex.=2,
end.
end else
begin
if KStepCount then Kindex:=1 else Kindex.=2;
end

MatrixDev[Columnindex,i}:= VB*Kfunction(MatrixY[Columnindlex,i+1])+V;
End;
MatrixDev[Columnindex,Step]:=MatrixV[Columnindex, Step,step];

end
procedure TW_Mode4.DownFlow;
vari. integer;
avergl.avergO: double;
begin
StepCount.=1,;
Columnindex:=0;
SetMatrixDown;

Columnindex:=1;



SetMatnxDown;

avergL=0;
avergQ:=0;

for =0 to Step-1 do
begin
Inc(StepCount);
Columnindex.=0;
CallVatrix;

ShiftUp;

averg0:=avergO+MatrixSum[0,0];
Columnindex.=1

CalMatrix;

ShiftUp;

avergl :=avergl +MatrixSum[1,0],

end;
YbAvg:=((YbAvg*Step)+avergL)/(2*Step);

YsAvg:=((YsAvg*Step)+avergQ)/(2-Step):

end;

procedure TW Moded. UpHow;
var i. integer,
avergO: double;
begin
StepCount.=1;
if Cycle =2 then
begin

Columnindex:=1;
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SetMatrixilp;
end.
avergQ:=0;
fori=0to Sep-L do
begin
Inc(StepCount);
if Cycle=2 then
begin
Columnindex:=1:
CalMatrix:
ShiftDown;
YmAvg:=OldYmAug;
OldYmAvg:=(OldYmAvg*Step+MatrixSum[1 step])/(step+1 )
end
Columnindex:=0;

if i= 0 then SetMatrixUp;

if Cycle=2 then MatrixY[Columnindex,0].=YmAvg;
CalMatrix;

ShiftDown;

averg0:=avergO+MatrixSum(0,Step];

end;

if Cycle=2 then YtAvg:=((YtAvg*Step)+averg0)/(2*Step)

else begin
OldYmAvg:=((YmAvg*Step)+avergQ)/(2*Step);

YmAvg:=OldYmAvg;

end;

end;



procedure TW Moded.InitAllValue;
varij: integer;
begin

BitBtn2.Enabled:=True;

Ap[1];=strtofloat(EApL . Text)
Bp[1]:=strtofloat(EBp1 . Text)
Cp[1]:=strtofioat(ECpl . Text);
Dp[1]:=strtofloat(EDpL .Text);
Ap(2] =strtofloat( EAp2. Text);
Bp[2]:=strtofloat(EBp2. Text);
Cp[2]:=Strtofloat(ECp2. Text):
Dp[2]:=strtofloat(EDp2. Text);
Ap[3]:=strtofloat( EAp3T ext)
Bp[3]:=strtofloat(EBp3.Text)
Cp[3]:=Strtofloat(ECp3.Text)
Dp[3]:=strtofioat(EDp3. Text);

An[1]:=strtofloat( EAn L. Text);
Bn[1]:=strtofloat(EBn1 . Text)
Cn[1]=strtofioat(ECn1 .Text);
Dn[1]:=strtofloat(EDn1 .Text);
An[2]:=strtofloat(EAN2. Text):
Bn[2]:=strtofloat(EBn2. Text):
Cn[2]-Strtofloat(ECn2.Text):
Dn[2]:=strtofloat(EDn2. Text);
An[3]:=strtofloat(EAN3. Text):
Bn[3]:=strtofloat(EBn3.Text);

Cn[3]:=Strtofloat(ECn3.Text):



Dn[3]:=strtofloat(EDNn3.Text);

YO=strtof oat(Edlit15T ext);

OlaYmAvg:=YQ;

YsAvg=Y0,

YAvg=YO;

YmAvg=YO;

YoAvg:=YO,

if strlen(Pchar(Edith.text))<1 then SetRightStep else

begin
If strtoint(Ecit5. Text)<2 then Edi15Text =28
Step:=Strtoint(Ecit5. Text)

end;

OlaYmAvg:=YO;
YsAvg=YQ,
YtAvg: =0
YmAvg:=Y0,
YbAvg=Y0,

\i=strtofloat(Ecit4.text)/(2*Step);
VB=V3,

forj=0to Lao
begin
fori:=0 to Step do
begin
MatnxY[j,i]:=YO;



MatrixSum{[j,i]:=YO;
end
end;

end:

procedure TWMode4. SetRightStep;
var ij; integer;

begin

step:=4;
repeat
step:=step+1;
V.=strtofloat(Editd.text)/(2*Step);
VB.=VI3;
for;=0to 1do
begin
for =0 to Step do
begin
MatrixYj,]-=YO;
MatrixSum[,i]:=YO;
end;
end;
DownFHow;
until MatrixSum[0,0>0.94;
Edith. Text:=inttostr(Step):
end;

procedure TW_Mode4.Calculate;



vari:i teger,
lasto, lastl : double;
stopiboolean;

begin

ListBoxd.Clear; ListBoxb.clear; ListBox! .Clear;

ListBox2.Clear:;

stop-false; last0:=0; lastl :=0;

I =0;
ListBoxl. ltems.Add(inttostr(i));
ListBoxd.Items.Add(floattostri( YtAvg, fiGeneral,6,6));
ListBox3.Items. Add(floattostrf(YsAvg, fGeneral,6,6)):
ListBox?.Items. Add(floattostri(YmAvg,fiGeneral 6,0)); *

repeat

=k
Cycle:=1.
DownFlow:

ListBox5.Items. Add(floattostri{ YbAvg,fiGeneral 6,0));
ListBox3.Items.Add(floattostrf(YsAvg, fGeneral,6,6)):

Cycle:=2
UpHow;
ListBox4.Items.Add|(floattostrf( YtAvg, f{Generai,6,0));

Cycle:=3;
UpHow;
ListBox2.Items.Add|(floattostri(YmAvg, ffGeneral,6,6)):



if Abs(YbAvg-Last0)<0.00001 then Stop:=True;
lastO:=YhAvg;

if Stop and (Abs(YtAvg-Last1)>0.00001) then Stop:=False;
lasti"YtAvg;

ListBox! .Items. Add(inttostr(i));
until Stop or (i>100);
Cycle=1;
DownFlow;
ListBoxb.Items.Add|(floattostri{ YbAvg, fiGeneral 6,6));
Editl .text=inttostr(i)
Round:=i;
end;

procedure TWMode4.BitBtn2Click(Sender: TObject);
begin

Graph.PlotType:=4;

WjSraph.Show;
end;

procedure Moded. ListBox4Click(Sender; TObject);
begin

ListBox5.ltemindex:=ListBox4.Itemindex:

ListBox5. Topindex:=Listoox4. Topindex;

ListBox!. temindex:=ListBox4.ltemindex:

Listbox! 1 Topnoex= Listbox4. Topindex;
ListBox2.ltemindex:=ListBox4.Itemindex:

ListBox2. Topindex;=Listoox4. Topindex;
ListBox3.ltemindex:=ListBox4. ltemindex:



Listbox3, Topindex;=Listbox4. Topindex;
end

procedure TW Moded.ListBox5Click(Sender: TObject);

begin
UstBox4.Itemindex:=ListBox5.ltemindex:
ListBox4.Topindex:-ListBoxb. Topindex;
ListBoxL.Itemindex:=ListBox5.ltemindex:
ListBoxI. TopIndexListBox0. Topindex;
ListBox2.ltemindex:=ListBox5.ltemindex:
ListBox2 Topindex;=L.istBox5. Topindex;
ListBox3.Iltemindex:=ListBox5.ltemindex:
ListBox3.Toplndlex:=ListBox5. Topindex;

end;

procedure TW_Mode4.ListBox1Click(Sender: TObject);

begin
ListBox4. Topindex.=ListBox1 . Topinclex;
ListBox4.Itemindex:=ListBoxL.temindex;
ListBoxb.Topindex=ListBox1 . Topindex;
ListBox5.Itemindex:=ListBoxL.temindex;
ListBox2. Topindex:=ListBoxL . Topinclex;
ListBox2.ltemindex:=ListBox1.ltemindex;
ListBox3.Topindex.=ListBox1 . Topindex;
ListBox3.Itemindex:=ListBoxL.temindex;

end;

procedure” Moded.EditoChange(Sender: TObjec):
varitemiinteger;



begin
item=0;
if (Edit6.text<>" ') and (Strlen(Pchar(Edit6.text))>0) then
item:=strtoint(Ecit6. Text)
Edit7.Clear; Ecit3.clear;
if tem<Round then
begin
Eit? text.= Listbox4.Items]item];
Edit8.text:=Listoox5.Items[item];
Ediitl 1,text:=Listbox2.ltems[item];
Edit13 text.=Listbox3 ltems[item];
end
end;

procedure TW Moded. BitBtn3Click(Sender: TObject);
begin

Close;
end;

procedure TWMode4.BitBtn1Click(Sender: TObject);
begin

ListBox .Clear;

ListBox2.Clear;

ListBoxd. Clear:

ListBox5.Clear:

ListBox3.Clear:

BitBn2.Enabled: =False;

IntAllValue;

Calculate;
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end;

procedure TW Mode4.Button1Click(Sender. TObject)

vari: integer;

Str : string;

begin

_Report Memol .Clear;

RepotMemol. esAddO N YTL YBL
M YSY)

_ReportMemol.  esAddO ),

=0

repeat
str:=Model AdaText(Listoox1 ltemsi],20)+' W Model .AddText(
Listbox4.ltemg[i],20)+ '+ W Model .AdaText(ListBox5.Items|i],20);
Str = str + '+ Model AddText(Listbox3.tems[i], 20+ '+
_Model . AddText(Listbox2.ltemsfi],20);
Report. Memol -Lines.Add(str);
=2k

until i>= Listboxl.ltems.Count-1;

W.Report.ShowModal;
end

procedure TW_Moded.FormShow(Sender: TObject);
begin

BitBtn2.Enabled:=False;

end

procedure TW_Mode4.ListBox2Click(Sender: TObject);
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begin
ListBox4. Topindex.=ListBox2. Topindex;
ListBox4.Itemindex:=ListBox2.Itemindex;
ListBoxb. Toplndex:=ListBox2. Topindex;
ListBox5.Itemindex:=ListBox2.Itemindex;
ListBoxL Toplndex.=ListBox2. Topindex;
ListBoxL.Itemindex:=ListBox2.Itemindex;
ListBox3.Toplndex.=ListBox2. Topindex;
ListBox3.Itemindex:=ListBox2.itemindex;

end.

procedure ModedListBox3Click(Sendler: TObject);

begin
ListBox4. Topindex.=ListBox3, Topindex;
ListBox4.Itemindex:=ListBox3.Itemindex;
ListBox5. Topindex:=ListBox3, Topindex;
ListBox5.Itemindex:=ListBox3.itemindex:
ListBox2. Topindex;=ListBox3. Topindex;
ListBox2.Iltemindex:=ListBox3.ltemindex:
ListBoxl . Topindlex:=ListBox3, Topindex;
ListBoxL.Itemindex:=ListBox3.Itemindex;

end.

procedure TW_Moded.Button2Click(Sender: TObject);
begin

_Monitor.Show;
end;

end.
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| Rayamir GenFeam(Gihfs )

unit Graph;
interface

Uses
Windows, Messages, Sysutils, Classes, Graphics, Controls, Forms, Dialogs,
OleCtrls, graphsv3, chartfx3, StdCtrls, Buttons, Extctrls;

type
TW_Graph = class(TForm)

BitBtnl: TBitBtn:
Panel2: TPanel:
RadioGroupl: TRadioGroup;
RadioGroup2: TRadioGroup;
RadioGroup3: TRadioGroup;
Imagel: Timage;
Image2: Timage;
RadioGroup4: TRadioGroup;
procedure BitBtnIClick(Sender: TObject);
procedure Plot;
procedure FormShow(Sender: TObject);
procedure ScrollBar1Change(Sender: TObject);
procedure Plotl;
procedure Plotll;
procedure Plotlll;
procedure PlotlV;
procedure ScrollBar2Change(Sender: TObject);



1

procedure RadioGroup1Click(Sender: TObject);
procedure RadioGroup3Click(Sender: TObject);
procedure RadioGroup4Click(Sender: TObject);
procedure FormCreate(Sender: TObject);
private
{ Private declarations }
public
{ Public declarations }
end;

var
_Graph: TW_Graph;
Org,round,Size,Xsizerinteger;
value,YO :real;
PlotType,Fluid : integer;

implementation

uses Main, Typel, Typell, Typelll, TypelV;

$R * DFM}

procedure TW_Graph.Plotl

varxx,yy,i integer,

Begin
age2.Picture.LoadFromFile('Graphf+inttostr(Fluid)+'.bmp");

Image2.Top := 545-Image2.Fleight;

Image2.Left:=125;

YO := Typel.YO;
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round:=_Model .ListBox4.items.Count ;
imagel.Canvas.font.Color:=clRed;

imagel .Canvas.TextOut(140,Trunc(Org/1.5)+60,'Yt);
imagel .Canvas.font.Color:=clGreen;

imagel .Canvas.TextOut(140,Trunc(Org/1.5)-60,'Yb");

if round > 1000 then round:=1000;
imagel.Canvas.Moveto(55,Trunc(Org/1.5)-
Trunc((strtofloat(W_Mode1.listbox4.items[0])-Y0)*50*20/size/Y0));
imagel .Canvas.Pen.Color:=cIRed:

fori:=1 to round-1 do

begin

xx:= Trunc(55+*80/Xsize);

yy:= Trunc(Org/1,5)-Trunc((strtofloat(W_Mode1 .listbox4.items[l])-Y0)*50*20/size/Y0);

if (xx<750) and (yy<600) and (yy>0) then imagel.Canvas.lineto(xx,yy);
end;

imagel.Canvas.Moveto(55, Trunc(Org/1.5)-
Trunc((strtofloat(W_Mode1.listbox5.items[0])-Y0)*50*20/size*10/Y0));
imagel .Canvas.Pen.Color:=cIGreen;

fori:=1 to round-1 do
begin
xx:= Trunc(55+*80/Xsize);
yy:- Trunc(Org/1.5)-Trunc((strtofloat(W_Model .listbox5.items]l])-Y0)*50*20/sizeAl0);
if (xx<750) and (yy<600) and (yy>0) then imagel.Canvas.lineto(xx.yy);
end;
End;

procedure TW_Graph.Plotll;



vari: integer;
Begin
Image?2.Picture.LoadFromFile('Graph2'+inttostr(Fluid)+,.bnnp’);
age2.Top := 541-Image2.Height;
Image?2.Left:=125;

YO := Typell.YO;
rounds W_Mode2.ListBox4.items.Count-1 ;

if round > 1000 then round:=1000;

if Fluid—L then
begin

imagel.Canvas.font.Color:=cIRed:
imagel.Canvas.TextOut(140,Trunc(Org/1.5)+60,'Yt1');

imagel .Canvas.font.Color:=clGreen;
imagel.Canvas.TextOut(140,Tmnc(Org/1.5)-60,"Yb1);
imagel.Canvas. Moveto(55,Trunc(Org/1.5)-
Trunc((strtofloat(W_Mode2 listbox4.items|0])-

Y0)*50*20/sizelY0));
imagel .Canvas.Pen.Color:=cIRed;
fori:=1 to round-1 do
begin
imagel.Canvas.lineto(Trunc(55+i*80/XSize),Trunc(Org/L,5)-Trunc((
strtofloat(W_Mode2.listbox4.items[l])-Y0)*50*20/size/Y 0));

end:

imagel .Canvas.Moveto(55, Trunc(Org/1.5)-Trunc((strtofloat(
_Mode2.listbox5.items][0])-Y0)*50*20/size/Y0));

imagel .Canvas.Pen.Color.=clGreen:

fori:=1 to round-1 do



begin
imagel .Canvas.lineto(Trunc(55+*80/XSize), Trunc(Org/L.5)-Trunc((
strtofioat(W_Mode2.listbox5.items]l])-Y0)*50*20/size/Y0));
end;
end else
begin
imagel.Canvas.font.Color:=cIBlue;
imagel.Canvas.TextOut(140,Trunc(Org/1.5)-80, Y13,
imagel. Canvas.font.Color:=cITeal;
imagel .Canvas.TextOut(140,Trunc(Org/1.5)+80,"Yb3");
imagel .Canvas.Moveto(55,Tnjnc(Org/1,5)-Trunc((strtofloat(
W_Mode2.listbox3.items|0])-Y0)*50*20/size/Y0));
imagel .Canvas.Pen.Color:=cIBlue;
fori:=1 to round-1 do
begin
imagel .Canvas.lineto(Trunc(55+*80/XSize), Tnjnc(Org/L.5)-Trunc((
strtofloat(W_Mode2.listbox3.items]l])-Y0)*50*20/siz&/Y0));
end;
imagel. Canvas. Moveto(55, Trunc(Org/1.5)-Trunc((strtofloat(
_Mode2.listbox6.items[0])-Y0)*50*20/size/Y0));
imagel.Canvas.Pen.Colon”cITeal;
fori:=1 to round-1 do
begin
imagel .Canvas.lineto(Tmnc(55+i*80/XSize), Tmnc(Org/L.5)-Trunc((
strtofloat(W_Mode2.listbox6.items]l])-Y0)*50*20/sizeAl0));
end;
end;
End;
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procedure TW_Graph.Plotlll

varxx.yy.l : integer;

Begin

YO := Typelll.YO;
round:=_Mode3.ListBox4.items. Count

imagel .Canvas.font.Color:=cIRed;

imagel .Canvas.TextOut(140,Trunc(Org/1.5)-60,'Yt);
imagel .Canvas.font.Color:=clGreen:

imagel ,Canvas.TextOut(140,Trunc(Org/1.5)+60,'Yh";

if round > 1000 then round:=1000;
imagel.Canvas.Moveto(55,Trunc(Org/1.5)-Trunc((strtofloat(
_Mode3.listbox4.items[0])-Y0)*50*20/size/Y0));'

imagel .Canvas.Pen.Color:=cIRed;
fori:=1 to round-1 do

begin

xx:= Trunc(55+*80/Xsize);

yy:= Trunc(Org/1.5)-Trunc((strtofloat(W _Mode3.listbox4.items]l])-Y0)*50*20/size/Y0);
if (xx<750) and (yy<600) and (yy>0) then imagel.Canvas.lineto(xx,yy);
end;
imagel.Canvas.Moveto(55,Trunc(Org/1,5)-Trunc((strtofloat(

_Mode3.listbox5.items]0])-Y0)*50*20/size/Y0));

imagel. Canvas. Pen.Color:=clGreen;

fori:=1 to round-1 do

begin

xx:= Trunc(55+*80/Xsize);

yy:= Trunc(Org/1.5)-Trunc((strtofloat(W_Mode3.listbox5.items|l])-Y0)*50*20/size/Y0);
if (xx<750) and (yy<600) and (yy>0) then imagel.Canvas.iineto(xxyy);



end:
End:

procedure TW_Graph.PlotlV;

vari: integer;

Begin

Image2.Picture.LoadFromFile('Graph4,tinttostr(Fluid)+'.bmp");
age2.Top := 545-Image2.Height;

Image2.Left!l 25;

YO := TypelV.YO;

round:= _Mode4.ListBox1 .items.Count-1 ;

if round > 1000 then round:=1000;

imagel .Canvas.font.Color:=clGreen;
imagel .Canvas.TextOut(160, Trunc(Org/1.5)-20,'Yh);

if Fluid=1 then

begin

imagel.Canvas.font.Color:=cIRed;
imagel.Canvas.TextOut(160,Trunc(Org/1.5)+60,'Yt);

imagel .Canvas.Pen.Color:=cIRed:;
imagel.Canvas.Moveto(55, Trunc(Org/1,5)-Trunc((strtofloat(

,Moded.listhox4.items[0])-Y0)*50*20/size/Y0));

fori:=1 to round-1 do

begin

imagel. Canvas.lineto(Trunc(55+i*80/Xsize), Trunc(Org/1.5)-

Trunc((strtofloat(W_Moded4.listbox4.items]l]))-Y0)*50*20/size/Y0));

end;

end else



begin

imagel .Canvas.font.Colon=cIBlue;

imagel .Canvas.TextOut(160,Trunc(Org/1.5)-60,Ys’);

imagel.Canvas.Pen.Color:=cIBlue;

imagel.Canvas.Moveto(55,Trunc(Org/1.5)-Trunc((strtofloat(
,Moded.listbox3.items|0])-Y0)*50*20/size/Y0));

fori:=1 to round-1 do
begin
imagel .Canvas.lineto(Trunc(55+*80/XSize), Trunc(Org/1,5)-Trunc((
strtofloat(W_Mode4.listbox3.items[l])-Y0)*50*20/size/Y0));
end;
end;

imagel.Canvas.Pen.Colon"clGreen;
imagel .Canvas.Moveto(55, Trunc(Org/1.5)-
Trunc((strtofloat(W_Moded.listbox5.items[0])-Y0)*50*20/size/Y0));
for i:=1 to round-1 do
begin
imagel. Canvas.lineto(Trunc(55+*80/XSize), Trunc(Org/1.5)-Trunc((
strtofloat(W_Mode4.iistbox5.items(l])-Y0)*50*20/size/Y0));
end;
End;

procedure TW_Graph.Plot;

vari integer;

begin

size := strtoint(RadioGroup?.ltems[RadioGroup?2.ltemindex]);
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xsize := strtoint(RadioGroupl.ltems[RadioGroup1.ltemindex]);
imagel .Canvas.brush.Style:=hsSolid;
imagel .Canvas.FillRect(rect(0,0,imagel .width,imagel .height));
image2.Canvas.brush.Style:=hsSolid;
image2.Canvas.FillRect(rect(0,0,image2.width,image2.height));
Org:=screen.Height-(RadioGroup3.ltemIndex+1)*80;
imagel .Canvas.Pen.Color:=clGreen;
imagel .Canvas.moveto(42,trunc(Qrg/1.5));
imagel .Canvas.lineto(imagel .width-20,trunc(Org/1.5));
imagel. Canvas. moveto(55,0rg+200);
imagel .Canvas.lineto(55,0);
value:=1;
imagel.Canvas.Font.Name:-Courier New’,
imagel .Canvas.font.Color:=cINavy;
imagel .Canvas.font.Style:=[fsbold];
imagel.Canvas.Font.Size := 10;
imagel.Canvas.pen.Width:=1
fori:=0 to 30 do

begin

ifi mod 2=0 then imagel.Canvas.TextOut(12, Trunc(Org/1.5)-*20-

8 floattostrf(value,ffGeneral,3,2));

value:=Value+Size/50;

imagel .Canvas.moveto(50,Trunc(Org/1.5)-i*20);

imagel .Canvas.lineto(60, Trunc(Org/1.5)-i*20);

end;

value:=1;

fori:=0 to 14 do

begin

ifimod 2 =0 then imagel.Canvas.TextOut(12,Trunc(Org/1.5)+i*20-



8,floattostrf(value,ffGeneral,3,2));
imagel.Canvas.moveto(50,Trunc(Org/1,5)+i*20);
imagel.Canvas.lineto(60,Trunc(Org/1,5)+*20);
if Value<=0 then break;
value:=Value-Size/50;
if Value<0.00001 then Value:=0;

end:
value:=0:

fori:=0to 14 do
begin
imagel .Canvas.TextOut(45+Trunc(i*80), Trunc(Org/1.5)-16,inttostr(Trunc(value)));
value:=Value+XSize;
imagel.Canvas. moveto(55+Trunc(*80), Trunc(Org/1.5)-2);
imagel.Canvas.lineto(55+Trunc(i*80),Trunc(Org/1,5)+2);
end;
imagel .Canvas.pen.Width:=2;
case PlotType of
1. Plotl;
2 . Plotli;
3 Plotlll:
4 : PlotlV:
end;
end;

procedure TW_Graph.BitBtn1Click(Sender: TObject);
begin
Close;
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end:

procedure TWj3raph.FormShow(Sender: TObject);
begin

RadioGroup2.ltemindex:=2;

RadioGroupl .ItemIndex:=0;

plot;

end;

procedure TWj3raph.ScrollBar1Change(Sender: TObject);
begin

plot;

end;

procedure TW_Graph.ScrolBar2Change(Sender: TObject);
begin

Plot;
end;

procedure TW_Graph.RadioGroupl Click(Sender: TObject);
begin

Plot;

end;

procedure TW_Graph.RadioGroup3Click(Sender: TObject);
begin

Plot;

end;



procedure TWj3raph.RadioGroup4Click(Sender: TObject);
begin

Fluid := RadioGroup4.ltemindex+1;

Plot;
end;

procedure TW_Graph.FormCreate(Sender: TObject);
begin

Fluid:=1:

end;

end.

Il Program for Printing Form (Printing.Pas)
unit Printing;
interface

Uses
Windows, Messages, SysUtils, Classes, Graphics, Controls, Forms, Dialogs,
Extctrls, quickrpt, Qrctrls, StdCtrls, Buttons, ComCitrls;

type
TW_Report = class(TForm)
BitBtnl: TBitBtn;
SaveDialogl: TSaveDialog;
BitBtn3: TBItBn;



Memol : TRichEdit;
procedure BitBtn1Click(Sender: TObject);
procedure BitBtn3Click(Sender: TObject);
private
{ Private declarations}
public
{ Public declarations}
end;

var
_Report: TW_Report;

implementation

{$R* DFM}

procedure TW_Report.BitBtn1Click(Sender: TObject);

begin
if SaveDialogl .Execute then

Memol.Lines.SaveToFile(Savedialogl filename);

end:

procedure TW_Report.BitBtn3Click(Sender: TObject);

begin
Close;
end:

end.
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